Part A

General Mental Ability, Administrative and
Psychological Abilities

If 808 x 8008 x 80008 = A and the sum of a]]
the digits in the A is M, what will be the value

of VM ? )
1 8

(2 12

3)
(4)

0
4

(Directions for questions 2 - 3)

There are two series given below, of which one is
complete and follows a certain pattern. Based on the
pattern of the complete series, find the answering
term in the other series with missing terms marked
by alphabets.

2. Which number will come in place of D in the

following ?

4 25
6 A

(1) 7827
(2) 8394
(3) 8401
(4) 8514

169 1009 5041 20161
B C D E

Which number will come in place ¢ Ein the
following ?

4 7.5 2126 77876
5 A B C

(1) 2184;2
21145
22826
2419-4

3549375 195, ‘
D l35625

(2)
(3)
4)

(4)
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L 8og 8008 x 80008 = A OO A ' @),

©08e) Fueso M eowd. M Ty DD

0 @)S0E ?
1 8

2) 12

3) 0

4) 4

(2 - 3 (5F) ©30 ArSSen)

& (8088 Bockh NOgry (FEWEN QD JDFOW,
TES 2,868 FBON0S HOO DBR SSTED
©NIO0VDB0H. J*8 Sogrs (3B DED BwEy
ST 8O, SFSroes  HB0IDRS
SDYFoNS HTFOS VeSS HOFPS (Fen S HST TS
D), EQOFS0A.

808 8S’ D 'S0 S Sows DA 2

4 25 169 1009 5041 20161
6 A B C D E
(1) 7827
(2) 8394
(3) 8401
(4) 8514

2.

1808 >83S' E Frsos® Y dos DA 2
4 75 2125 TT875 354.9375

1957.
5 A B o I|t']:i5625
(1) 21842
(2) 21146
(3) 22825
(4) 24194
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-+ has to t,IaVEI distances of Gﬁ k (5 )

4 and 110 km on three consecutiy, ':. 88 kig
travels with the greatest Possib ayg. He

¢
speed (in km/hr) on all the three daysons;tant
i ey the respective distap, 80 that
g, §

| integer number of hours on eac}, i b g

] many hours will it take him tq Compltt How,

( journey ? € the
(1) 8hours

(2 12 hours

! (3) 22 hours

'. (4) 24 hours

5. If pKq means p +q

| pLq ﬁems P—-4a

pMq means p X q

pNqmeans p +q

which of the following equation is incorrect ?
(1) 5K3L4M6N2 =-4 |

2 (8M7)M(7K5)L(6N3)N(3L2) = 670

(3) 5K6L3M4NS8 =95

(4) 30N10K4M2L2 =15

6. A pipe N can fill a tank in U4 hour and
another pipe ‘M’ can fill it in 1/6 hour. Both
pipes are opened to fill the empty tank, but
after 1/15 hour a leak developed in the tank.
The leak alone can empty the full tan
V12 hour, If the both pipes were opened at

kin just
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go»

88
oy SERT e Tared 66 ;% s
$y805» 110 a2y ¢ordo L;)oﬁrsﬁzo Pt é@;é
Lo edd gared ﬁ'és@rﬁof ‘;1 ¥ of HOP3

Sx0& (B/K0S) DR, TP e
KobreS (HAT2 “onob® o 450
Sooas @dJ8 AL $oed©
X)C&)é)oﬁ?

(1) 8 oL

2) 12 o0&

3 22 HJoerexn

4) 24 O

pKqeo®p+d

plq @0®p—d

pMq @o® pXq

pNgq ®o®p+d ©oNS

& (806 sEsEoS DO S3)?

(1) 5K3L4M6N2=-4

(2) (SM'?)M(7K5)L(6N3)N(3L2) =670
(3) 5K6L3M4N8 =95

(4) 30N10K4M2L2 =15

N o D) 8 ersoSd 14 K&
DOHKOE HOSED HTE DY M, 16
Kot QoK. TP @505 oD,
DO DN BESVFOW, - wows  1/15
::ﬁoeoo dorse  erso§eS 2.8 eTe Tl
26)308. 3I00 & SO0 IFSDH 11
HotoS' 8 ergo§ed grd TR0, TR 29

9 pm, then at what time Will the tank D¢ oo Bot e B8R, O Qo
emptied ? ® 67508 g9 ©HS08 ? ’ ]
1) 9:20 pmy (1) 9:20 pm

@ 930 pm (2)  9:30 pm

3 995 om (8) 9:25 pm

(4) 9:40 pm 4 940 pm
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Rajani has a digital watch that ghows time in
2 24-hour format. The time on the watch
shows 23:45. After passing ‘A’ minutes the
watch shows the time in such a way that the
four whole numbers are again arranged in
ascending order from left to right. Then what
will be the value of A x A ?

7.

(1) 7569
(2) 8464
(3) 6724
(4) 9604

If E*F means E is the son of F’
E + F means ‘E is the father of F’
E > F means ‘E is the daughter of F’

E < F means ‘E is the wife of F

which of the following pair of people
represents first cousins with regard to the
relation given in the expressions, if it is
provided that H is the sister of P ?

Q>R<P+S and M*H<I+J<K+L

(1) QH
(2) MS
(3) ML
(4) MK

In a hostel room, five people P, Q, R, S and T
read a novel. The one who reads the novel first
gives it to R. The one who reads the novel last
has taken it from P. T is not the first or the
last to read the novel. There are two readers
between Q and P. Identify those two readers
between Q and P in the same order.

(1) RandS

(2) RandT
(83 Tand$S
(4) SandT

(6)

GET IT ON
Google Play

S8 SME ok ABeS SO @O @0
24 K060 oSS’ HHOTRY, BIRS0E.
FES @i HdHoHo 2345 SW’,‘A
AAWTOL e Sorges DY Fa‘c;))r‘iz 30
JoPgen e Dok 50638 f—.ﬁﬂ'm@‘
OSIDBS Do TV BT
ErS0s. @ond AxA DS H0S

)08 ?
(1) 7569
(2) 8464
(3) 6724
(4) 9604

E*F eodm E ot F G3ng) 5085780’
E+F eodr E oo F &g Sol&y

E>F edr ‘E @ot) F o) 0850

E<F eodm E ot F B 2rds ©ons
H QP &gy FSOm HBKBR, & Bot
3588800 aSDAS HoOTE
H0000D 180 oS I3
TrACNeN (first cousins) €9YT KD ?
Q>R<P+S HO8A M*H<I+J<K+L

(1) QH
(2) MS
(3) ML
(4) MK

28 IS KOS, 0HS S5¥ven P, Q, R, S
DOAD T 28 S ENAVIN TS T TN INTS)
AGL VOIS S8 A SBoayred R &
AT, DO VIS 9ADS 338 D P
0B SK0ETE. T $56> SADY Suncded
B DO 58 5°¢. Q HOA P 085 2%
TERD &Y. Q B P 05 &)

3D IBHOD  ©F  $%D  (EH0S
8ok,

(1) R8BS
(2) ROOASH T
(B) T8 S
4) SNBASHT
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gider the following statementg .
Con

10- _
L An equilateral triangle in 4 vy

maximum ar will
have the ea Compg,,
ed

other triangles inside the sap, _—

II‘ If the height of an equilaterg] t"iangle .
N . . 18
10 cm, Iits axea will Be €qua] ¢,
; 0
10048 2.
3

m1.  If three sides of a triangle are 5, 19 and

13 cm, then the circumradius of the

triangle is 2-5 cm.

Scalene triangle is a triangle with none

of the sides equal to any other sides.

Which among the above given statements are

correct 7

(1) L II and III only

"2 LIIand IV only

@ I III and IV only

(4) All the above

ee-digit naturel
5, leave a
at is the

The sum of all the thr
numbers, which on being divided PY

remainder equal to 4 is XXYZA- WP
value of Y 4 79

1) 9
2) o

® 14

17

10,

(4) 18

L aswdo @

11.
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L. 2

Torel BEersOL
?:D?-’JO 630053 D - 3 9

wond, T 2TO50 3

11 & @550 308k

5—5'06330‘5

le) S

2, BS 82020 (Scalene triang o
Sezren D ABd 25ered0 HAFOO

&0Cha). _
=15 B (HEOSOS” AIDE B0 7

SHBas» 13 em 0
eSO TR0 25 e

(1) 1,11 605 1T &Léﬁ)

(2) - 1,11 08 IV mé&

(@) | II, TIT 0050 IV Sr(ehad

@) DIV

58 PROBRASYIN, 48 DIFSHS Fh0
WHOT @) Swreh ©03L dIra Hogse
B0 XXYZA. @008 Y + Z Dend does ?

1 9
(2) 9
@) 14
4) 18
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1
L;S-'TGNO . )
pirections for questions 12 - 15) (12 - 15 (54) @50 aareSaSer

o

(e
Read the following instructions Cﬁfefu“y and | & Lgoc:' mééwm z?;t) 'S!:D,SO&:
answer the questions given below : R 520G LXJ%;“Dg\" S b SO
: 6 QO
Nandu and Mohgn decided to sell their Apple 6 SO $HOB0) IO &> Aggli’p@din KBRO%N
Series watches each at T 42,000 to Karthik and|, e« 48 = 45 000 Fa32® 7=

Ganesh respectively. In each case the selling price.uf JEonoTerd ;:)Q CD)OT-mé‘)‘-‘?léo' & & JDI0B.
¥ 42,000 was arrived at by increasing the cost PTice | =, . orgor T 42,000 Y

> 000
by 25%. While Nandu gives a discount of 10% 01 the S0% Swsed T 12,000 2 10%, éi s
first € 12,000, 8% on the next T 16,000 and 5% on T 16000 8% OO 22O SN
the rest to the buyer Karthik, Mohan gives a N TS S

v R ST
discount of 8% on the'first ¥ 16,000, 7% on the next gg?gﬁfw?ﬁ%g? ;fiﬁ z : 16,000 8%,
:h 8,000d'and 5% on the rest to his b:?el; G;ne::t; SEA T RS T SO PAOS TR 5%

ese discounts were however subjec T v. %
condition, that the buyers make the'payment on | $00HD AT HD. ©ons &8 éﬁ?@@ :;sééé;?aezz
time, failing which the discount gets reduced by 1% S& Goerow, Fofentrdien SFTO0 ;.I -
for every delay of a week. Saheso 3;3@@8' ®S >80 SORTEOS S
- 1% $Heood.”

12. If Nandu and Mohan got all the payments on

: hat i th e e 305 2B [EEES DTS o)
time, what 1s the appr.O}mna e -per 2 Eé’)oi’.g@o a‘j"o&{\‘)egoa)é, ‘3{@6&5‘ o)§\)2,é
profit of the person getting the higher profit ? =

: er250 SPOCNERND) S8 BTy - TS0
s DETEIT Do ?
(2) 21% @ 14%
3) 17% @ 21%
oy 3) 17%

4) 9%

13. If Karthik defaults to make payment by 1 and

2 weeks in the seco‘nd and third payments 13. S‘@g BOBS BN S¢S Bé)ob’@t)g
respectively, what would be the profit of .

Noiidu 6athe salb afa watd 2 SOIT 1 HBAW 2 FT°O Few PO
TS ©30E0S" S0E HDVIS 250 o ?

(1) ¥ 5,480
(1) ¥ 5,480

(2) ¥ 5545
(2) T 5,545

@) T5

) 560 (8) ¥ 5,660
4
S (4) T 5,740

Scanned with ACE Scanner


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

e

|
[ 45161

If Ganesh defaults in ege (9
( 14

2 Weeks, What would be the proﬁtr::;.y]nﬁ

)

nt
the sale of a watch ? M°11an :1!: 1
(1) T 5,400
@ T 6,200
@3 T 6,500
4 T 6,800
. What would be the u:'lifference in th 15,
15 Nandu and Mohan if both the buyzrgroﬁts of
in each payment by a week ? defay];
1) T 440
2 T 464
(3) T 488
4) T 520
16.
16. Madhu purchased a bike in the year 2024 g4

the cost of ¥ 78,000. It depreciates in value,
10% the first year, 9-5% the next year, 9% the
third year and so on, with all the percentages
applied on the original cost of the bike. What
will be its value in the year 2029 ?
(1) ¥ 43,000
(2) T 42,000
(3) T 42,500
(4) T 42,900

17. Neelima places an order for ‘P’ number of
sweets from Agarwal Sweet Shop :;ha}:‘
produces ‘q’ number of sweets every i 3;
the total number of sweets Produced\ﬁlf?la?: wil}lv
fail quality check and are discarded der will
be the number of days in which the ord®
be completed ?

P
100g(1 - r)

(1)

100qr
P

(2)

100p

@)
(100 - 1)g

100r

@
4100~ )

17.
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K% Hd Do BaHES 20"’2;6 S5 85
NHODB WS, S el

SO )& eredo Doed ?
(1) ¥ 5,400

@) < 6,200

3 T 6,600

= 6,800

2.8 00 ‘

$HB050 T O

(1) T 440

(2) T 464

(3) T 488

(4) .% 520 P
2024 H0NeHIO0C ! <

g;ga Eifen TT. (DS c‘boaﬁe.é)éo ole

£6 R DD émér@:éboé ’ejo .

$03e5)60 10%, 20He3 D0DSY s

S H05SI50 9%, BS Ty SV

T 9BoNBD, 2029

7 Q FTSOQ

goée?gégéés oD Dend Do @)d0d ?
(1) T 43,000

(2) T 42,000

(3) T 42,500

(4) T 42,900

HO% 1D ‘¢ DOV DISOXD Creh B
B2 oforsS S D Hod P Do
IO 6Pd BROH. |HB T~ redyed
TAHDES  ISo JIOST 1% ToEaged
SADES DHOV FEFCHVBBOD. ©ONS
0% Ty efd N TS o
)0 ?
e - S
100q(1 - 1)
100gr

P

100p
(100 - r)q
_100r
q(100 - p)

(1)

(2)

(3)

(4)
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Gs/16/101 (10) . Y

48. There are 5 members in the family by the|yg 0.4 s 6, 53¢, VT ed, ?“m,
names Ravi, Madhu, Mahesh, Raghu and " Sotnowo HE05ED ﬁw'lé)- PSR
Praveen. Praveen is taller than Raghu but not @955 ®©3 b 508 gy;o‘],@ 5 B 56"1
as fat as Raghu. Mahesh is taller than Ravi Ga &od Q“@Q; o & oo SPERTT ") &
but shorter than Madhu. Ravi is fatter than P TBeh. SSyor o> o)

Raghu but not as fat as Madhu. Praveen is
thinner than Mahesh, who is thinner than
Raghu. If they are arranged in an ascending
order, i.e., fattest to thinnest, who will come in
the middle ?

(1)
(2)
3)
(4)

Praveen
Raghu
Mahesh
Madhu

(Directions for questions 19 — 21)

On the eve of Bathukamma festival, the association
of Greenfield Apartments had organized games for

children. As a part of that, Keerthi, Joshna, Pallavi,

Rama and Swetha participated in a race. They got
different ranks from 1 to 5 in the race (1 being the
fastest and 5 being the slowest).

The following information is also known :

L Keerthi is not the person who finished the
race first.

iy

II. Pallavi didn’t get the 5% rank, but she

finished the race after Keerthi.

III. Rama finished the race after Joshna, |

IV. The sum of ranks of Keerthi and Swetha was
equal to the sum of ranks of Pallayi and
Rama.

19.

Among the five girls that participated in the
race, who was the last to finish the race 9

(1)  Swetha
(2)  Pallavi

@)  Keerthi
4)  Rama

£ s Yot TET & S ST

80 ey G gy DI GTU

S, (HDS TR e
%y DS GTUH,
Sk SyErh 63w 5O s 88Ty

. e) 8)
e Soeno OIS Lok S5 S5O0k

s % T80 204
DB SRPFE ?

1) (DS

(2) Sa»

(3) Sar

(4) G

(19 - 21 (5% © §0 Ariden)

pedsny Do Sodsm BS DY eIy
0S) OFVTHAS 658505 DT HON
stre Fden ABLTrom®. RONS Ko B
S 88, £°9), HOD, 8K, 35S I K. FH
BS 1 0B b S8 IV TroON
Ford (1 BHS JhS0SDIO DO
5 DoA™ &OO).

& 1808 HETTEO ST BO®OS -
L 88 Swodom 8o SnAoDS 358 s°¢%.

I JVN8 55 T°§08 o8B, o8 &8
T B SHRo0s. 2 o

£x) S0 58 65 BN SnhoDoA

£0 SBAD 3B Toso¥vey 0o H0D
5600 B TONO TNTIE Hxms0,

BS FPV) DN
B DAV T o5&y :’3§e3e5‘, D905

(1 S

2) DR
(3)
(4)

111
V.

19.
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22.

551611

20’ 18 8, then W

of the ranks of Sweth,

the sum
u ho got the 4™ rank o

Pallayi

1) Keerthi

(2)
3
4)

Rama
Pallavi

Sswetha

Among the five girls, who coylq .

gnished the race after Pallavi ? ot have

@ Keerthi

2)
3)
(4)

Rama
Swetha

Cannot be determined

— of Pooja’s age to Ajay’s age is 1 : 3,
The ratio of their ages after 8 years will be
1.2, How many years ago was the ratio of

theiragesl:S?

(1) 3years
(2) - 4 years
(3) 5 years
(4) 6 years
Bhaskar bought a piggy pank for his daught;er
Kavitha, Kavitha started saving her mo:er};
On 1% March, 2024 she save T1 andde? y
day starting from gnd March che save b
more than the previous day. Find the B
d of wh

date after 1 March, 2024 2* the en i
her total savings will be 2 perfect square:

(1) 10% March, 2024

@ 26% March, 2024

[11}

20.

21,

@) q17th March, 2024

(4
4) SthMarch’ o0

22,

(D

23.

W=

GET IT ON
Google Play
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8

o
202
HOD ors0®

L8050
e DB 26O ’

o008, 4 o305
(1)
(2)
3

(4) s 53
3058 O

3565

(3) s
2EONOTIO IO S

- “wed 1:3-

Lyees B0 92300 2500V :101;) 5;33

8 HONSITO dorged 7O 3050 _é
850 &°

1 : 2rF €000 29 J0HSITE
HoHen) DR 1: 8™ ot ?
3 HOHESITED |
(@) 4DOISIT
3) 5 H0SSJTN .
(4) 600ISNT° D
B 3 ST EDSE 2.8 D 2750800
S, §DS 3 )% iy VSO
FE0D0D00. 1 E70), 20243 & T 1 ST
3208 HB0 Ir8) 2% B8O Hod DS
23 e NN T E0B T 1 VI
ST TN0O. 1 Ir0), 2024 ST e
TS Ido ;Y PDIBS 1y 56
(perfect square) &OB IR BAY
DO, ' ;

(1) 10579, 2024

(2) 26 &8, 2024
(8) 17 378, 2024

4)  8378), 2024
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GS/1 G/101
' a shopkeeper, initially had ‘n’ pens. A
24. JBY;’H jer bought 10% pens from n, then
:Lljther customer bought 20% of the
remaining pens, after that one more customer
purchased 25% of the remaining pens. Finally,
Jaya was left with 270 pens in her shop. How
many pens were there initially in her shop ?

24,

2D, Soserriyoren, INGSE N’ DY e
SOTD. 2.8 EHHE n 0L 10% DO
EOofen B, #0°ss DTS EQNE
WADS Dy 20% Tofen T, e
S0 5¢h HTE EHHB WAOS DAY OS’ 25%
Soffen Taech). DI, 20D &S 50
270 DYen MAerow. & 5o

(n oo - T DD, DY e GO0 ?
& 250 (1) 600
@) 700 (2) 450
4) 500 @) 700
@ 500

25. A preliminary test was conduct_ed' by ia
recruiting agency which consisted | of

attempts all the questions in it. For every
correct answer 1 mark is awarded, while a
wrong answer is penalized as follows :

I One-fifth of the questions 'éan'y
1/10 negative marking. :

II.  One-tenth" of the questibns..l carry |

1/5 negative _markjng.:'

IOI. Remaining questions will carry
1/2 negative marking.

Unattempted questions carry 0 marks, If
maximum and minimum possible marks

scored by Madhuri are X and Y respectively, |

25.
100 questions. Madhuri takes that test and |

100 (D30 Erdid (OEDE HE 6|5re3oh
BYY O QG LTOIDR0B. S8 e
DS’ DT HOA @S )
RHNOD TRVOB. (DB VS DIFTTDE

1 Dy @ 50c008, 5 QT8
&3 (800 DGO BESTE® DEOTI2ES0S -

L 0058 Soe (D 6% 1/10 JnedS

a’m&;w GOLETON.

s O, | W ed s smas

QAP0 GOLTON.

L DADS (HH 0% 1/2 SRS Srdoyen

&OEFOw.
®H (HOVBYOBD (DO 0 Srpen

| GOEroD. SPE0 OoDS KOR SO

EQa G ST X SHOAD Y eons.

then — " ig:
17'375 L W, X - Y :)Q):) :
O® o
1) 4
1 4
_ @ 6 & @
’ @) 2 @) 2
4) 8 4) 8
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27.

26.

In a classroom, & teacher agkq d «
9-digit numbers exist which Hsin » Hoy Man
£ ; € the y
that the product of factorials of i i Propepty,
sum of factorials of its digits ?» The 18its the
n
be the answer of the students presentWhat will
there 9

(1 56

(2) 63

(3) 64

(4) 72

Krishna, Suresh and Raghava together
started a business with the initial investments
of T 15,000, ¥ 18,000 and ¥ 20,000
respectively. After a year, Krishna and Suresh
increased their investments by ¥ 5,000 and

¥ 2,000 respectively, while Raghava withdrew |

" Z 5,000. After one more year, Krishna, Suresh
and Raghava increased their investments by
20%, 25% and 40% respectively. It was
decided that Raghava would receive 20% of
the total profit received by them for his extra
work and the rest of the profit would be
distributed according to their investments.
After 3 years, the total profit received by them
was T 53,400. If the extra profit receivg('l by
Raghava was excluded, ther find the rati0 Oti

profit shares of Krishn? an

Raghava :

(1)

Suresh

56:63: 53

@) 53:63.56

@) 59:63.56

@ 69:63.56

':13‘

26.

27.

GET IT ON

28 HSHD KOS 2.8 ey s
sresrey O38Y &5 > O

sézoTe 30RO, 00
o
9908 HOPIED DY &D8S G

ATy s s B9
BEAFETS0 DES ?

(1) 56

(2 63

(3) 64

4 72

£yR, O 3HB08W o 8O < 15,000,
7 18,000 0B

5056350 ST a3 OO 00 oD
2EN2CROD o T 5,000
T 2,000 20T, O"aDed

a5 H0rB0tHERT) 8. DT ATO ST 5ed

< 5,000

© &R, TR HOAD o730 SBIT 20%, 25%

005 40% TS S 2EN VDO
250t . TS S 980 D 578]e]
TO8 SIS Inedo B0 20% FONT R
20050 WADS ero 0 REPDO
DSB0 Do ToHH0S @
QAIONOVVA0H. 3 NoNedyo e  STesed,
08 90NN Jdo 7250 T 53,400. TN
oS OASY N0 DITFONONDES,
Son, TR HOAM TWNS Tw¥y erered

Y DB E0MS0A
(1) 56:63:53
(2) 53:63:56
@ 59:63:56
(4) 69:63:56
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55/16/101 (14)
28. John has a piggy bank which contains |28, NN @Sy D 2rgodo ¢ 25-200ew,
25-paise, 50-paise and 1l-rupee coins. There BO-2den  Sobcky 1. i e
are 220 coins in all and the total amount in Sy o ©05S Todo 220 Een
the piggy bank is ¥ 160. If there are thrice as &W;w.mam Y aj"so.s’\)ese i, T
many l-rupee coins as there are 25-paise - 16'0 o e ‘_:T Sess oy 1. s
i th hat is th b f 50-paise = e &) N
m;:}n tliz p‘: b;snk : aamber o - TEen SPCBY  DHLS GO,
- w - 2P505S @) 50-DIOO B DOy
il DO ?
(2) 40 Y 4
(3) 60 5 4p
(4) 80 3) 60
| (4) 80

29. Sekhar delivered a 20 litre solution of milk [
and water in the ratio 3 : 2 to Bhaskar.[29. 35 3:2 AN )BS 230080 20 @@Q e

Bhaskar removed 10 litres from this, replaced DBAW A EOAS (B33 HoODB Trck,
it with pure milk and delivered it to Karthik 08 ©oHS® Hod 10 Dt &JHI,
and Karthik repeated this process and R PO I 55 IS e D NWelo W)
delivered it to Varun. What is the ratio of milk - O 585% @0Bom 0805y 8§ &
and water in the solution received by Varun ? ATTR) HITS 950 523 SBHH
1) 3:2 BOQOTT®. IDES WONHN) TS0
2 4:1 : I SVINele W) 5)63 5);13@ DOeh ?
(1) 38:2 :

@ 7:8 | ) e
4) 9:1 (3) 17:3

(4 9:1

30. In a new year party, out of the total guests,
60% are women. If 80% of the guests are|30. 5 QoSS 50 e, S0 wSBOS

married couples (form a pair of husband and 60% H0& Sorden. 80% DOS eoBen
wife) and the rest are unmarried, then which DTS B0eden (@rorssdey moeym
of the following statements are correct ? GOLPA) B WADS A AT resoen

LS, & (808 Fofreredst 5 OBID ?
L Jderodssr DTSN T,
L. 30% %50% %y S0d Qe

I All men are married.

II. More than 30% of women are

unmarried. DI aTed) ),
Select the correct answer using the codeg AN RS50BS EBeredd FIRXA0D SBS
given below : QTrETR) DOTHLEOR -
(1) Ionly (1) Iredad
(2) Monly : (2)  II So7(eb3D
(3) BothIandII _ | (3)  1a080% IT Bocky

(4)  Neither I nor II (4)  T0605w II Bodkyr sesy
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46/16/107
H i box ( 15 ) '-903@0)
In a kitchen rack, S1X boxes apg ) & "
S o of another. The red Box ig ji, " ONe on gy ¢ Sowid OIS 88 ® i PP
plue box. The purple box is betwee i Ove the 0 KD 2,53 &olﬁaéww& - ‘6@“’?
d the green box. The yellow | e blﬂck = - ) &ob. P o” 80 ;):})93
an OX is | Heo DY 2 & &ol-
he red and the black box. If y Clween BoHth) RO S 208
the 8 T 256050 & v 2yBe
qumbered from 1 to 6 from top ¢, bots S are S 5D $H805D eV e 1 08
e difference between the pogi ™M then| 5, "oy 3 906 GO 5008
een and the red box is D. What ; N of the . S IR § esBONWI @Cm-é
gr is the vg) 6 SO & 4 cams 00 D.
| of D%/27 | e oz DB TR0 BOS 8
1 4 D3/2 Densd 20S ?
@ 135 1 4
(3 05 (2) 135
(4) 32 @3 05
(4) 32 ' ) mn
S : 2573000 PR S
g2, Pointing at a boy in the photograph Bhargay |33, .8 GroSFOS0S &9 @:»23_5’9) 50092
said, “The boy sitting on the left is the son of @ AT ) R, e < T SEY
the wife of the only son of the grandmother of @er)on 53028 NS YA e
my younger brother.” What is the relation ko oy SRS’ & Sl @esm;a
between the boy in the photograph and $B05 arGS8 S 5025080 DD ¢
Bhargav ? '
(1)  doen -
(1) Brothers . '3){)@@ 558050 &
(2) Nephew and uncle - c;)d; St s iaats
(3) Both are first cousins 7 é{) & FES &
’s broth ' '
0. Fadars seoog 33. & 800 (HELIOD HBKeSod0bk !
33. Consider the following statements : L Q) BN ATROTT SO Dr0HS
| ; ide L5e8ED)230 TPODR @a)eHO8.
L A Parallelogram having all the sides .. 63;) o°0 (’\:— @é)
equal is a Rhombus. L 220;@ U‘O&g@ 1 QSroedd
Jelograms; JTED, TR ®Q) 0SS
II. All the Rhombuses are Pal‘a] ey =
. &P T°0D ,
but the reverse is not true: X FD S RN 5%Y) 8
Square, SN © O FATN Kore GodIN) S
I1L may not be &
A Rhombus may 0F ymbuses. GOGENFIDN) TR @) WISBRreN
+  but all Squares are Rho sl G
Which am the above given stat,ements are ¢ : A ;
. ong the a 2 AN 1DEOIOS D HBID ?
" 1' (1) TS0 IT Sr(ebad |
an
® | Allonly (2) 1T 805w IIT S ehsH
L and IIT only (3) 18005 I S
@) Tandip only @ 3D

@ All the above
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35.

36.

34.

Gs/16/101
An electrical lineman has to climb on a pole of
height 50 meters to fix the wires. In thle first
one minute he climbed up 5 meters, in the
sext one minute he slipped down by 2 meters.
Further, he repeated the same process till he
reached the top of the pole. Then at what
height was he at the 24'% minute and how

many times did he have to go upwards to
reach the top of the pole ?

(D
(2)
(3)
(4)

41 meters, 12
39 meters, 11
36 meters, 16
42 meters, 18

Sandeep invested a certain amount in
Reliance Infra Private Limited which offers
compound interest (compounded annually) at
5% p.a. and an amount equal to 50% of that

amount was invested in Reliance Jio, which |

offers compound interest (compounded
annually) at 10% p.a. The duration of
investment for both the companies was
2 years. If the difference between the amount
received from both the companies is ¥ 6,965,
what is the difference between the sums
invested in the two companies ?

(1) ¥ 7,000
(2) < 8,400
3 ¥ 7,900
(4) ¥ 6,600

Kalpana’s.project report consists of 40 pages,
each of 75 lines with 80 characters in each
line. The lines are reduced to 70, but the
number of characters is increased to 95 per

line. What is the approximate change in the
number of pages ?

(16)

(1) -75%
(2) -10%
3) -12%
(4)

- 14%

34,

35.

36.

GET IT ON
Google Play !

P3N DACHEVE 2.8 Ve 8ES B8 S
50 DO DBy @by QOLODE 5O,
QGE A0S 5 e D dAersm,
ST A0S 2 s DS 8oddy
ONAITD. e S 2 TO H6% B
DGR, DT 9h0 TIF°CR. OONS e9¢bDd
245 AWA0S' Do IHS  Goerdy
DB FS D8 THTIEAS @b
DTN D8 I¢O ?

(1) 41 &M, 12

(2) 39 e, 11

(3) 36 &N, 16

(4) 42 DO, 18

HoBD Foh JwTR) BOAHS) AN
123 OXBES' DEPDE DEFD®, ad
5% p.a. SFS0 SAQ (H0SS o8 36
50D HPBS) @odN0S HOAD e
B0 50%8 HIFSS D) Reliance
JioS ePB D, /O 10% pa
JRFI0 IBY  (HOSSIT°VE & 0D
JOBS) ©woHN0B. Bodk oo
DEPDE SO 2 DoNdedyTrew. €8 o
0000 DHOA FodYS AL A
A§B500 T 6,965 ©ONSB. &8 BOR 0DV

VPG DES I8 K0¢ds BT Doch ?

(1) ¥ 7,000
(2) ¥ 8,400
(3) ¥ 7,900
(4) T 6,600

) | FBF OFDS” 40 wfen G OW,
25y H08S’ 80 ETOS 75 B T ow.
283 DoBveD JoP§D 708 SHoD), S T®
Do 285 D088 958 DOAINI, e 89Y

T,  DFe  HoPIST SIS )
QAT O ?

1) -75%

2) -10%

3) -12%

4) -14%
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e

e Working together, A and B cap 4

38.

39.

5s/16/1°?

A B and C are hired for j Pais;
Mg job,

12 days, B and C can do the Sama ..iob i
g days, while A and C can do i i, € Jjob ip
em

together to complete the job ?

days‘
Work

7
3 — days
(D 13 y:

7
7 _— days
(2) 13 ¥

3—7— days

@ 1z

5
7-— days
(4) 13 y

The letters of the word ‘ENTRANCE’ are
arranged in such a way that all vowels are
always written together. How many such ways
of writing the word is possible ?

(1) 1080
(2) 1440
(3) 1384
(4) 1526

Wednesday, then

I 12th June, 2024 will be a
19t November,

what day of week will it be on
2024 ?

(1) Wednesday
(2
(3)
(4)

Monday
Thursday

Tuesday
d facing

a bus stan
n e turns 135

Umesh is standing 1
the North-west direction- i 45°
anti-clockwise. After that D% oulockwise.
anti-clockwise. He finally turns 20 ¢
Which direction is he facing aow.:

(1) North-west

: @ South-west -
® North-east
W South-east

(17)

37.

(3)

39.

40.

GET IT ON
Google Play

80F HQ §do A, B
ooy, A 20050 B
s 50 TS, B>

S 6liesd. ©TOD
s EOD

2,8 20oN0

50
O HI

oD H%0S'D @I T IR
o YO ©f0eD
2e050¢3 lale
D 50eYTON ?

ENTRANCE &
D)) 0D
@08 YOG O- 0
(FONTE AL SrQTeD
(1) 1080

) 1440

1384

(4) 1526

19 25, 2024 2POTBO GOVS, 19 SS005,
20245 3065 & B @) 08 ?

(1) P80

@) FHhardo

(3) Hhad0o

(4)  DohE80o

&N 2.8 DFoBS TSy OIS Jod

G0, )0 @& 1835° @HIS; OIS’

SANTR). &3 ST SN 45° @ANS

&3S’ gmm@dm. OB VIO  90°

PNINITAY AHNHTC. BN Q. :
j Q

O3S’ ey ? o 8

(6 DI o VWINTR
2) B
(3) &S
(4) gﬁlcﬁ)
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41.

If 892 x 415 x 7-69 x ? = 1565-67631, what
will come in the place of ‘7’ ?

(1) 618
(2) 496
(3) 484
4) 55

Pawan appeared for examination in 5 subjects.
The maximum marks are the same for each
subject. His marks in these 5 subjects are in
the proportion 4 : 5: 6 : 7 : 8 and overall he
scored 60%. In how many subjects did he score
less than 50% of the maximum marks ?

1 1
@ 2
3 3
4) 4

It takes Madhu 2t minutes to compléte
Form-A which has k questions and 3t minutes
to complete Form-B which has k/2 questions.
If Madhu answei's all the questions, how much
more time does he take on an average to

answer a Form-B question than he takes to

answer a Form-A question ?

(1) 2tk
(2) 8t/k
(3) 4t/k
4) t/k

(18)

41,

42.

43.

GET IT ON

Google Play

8:92 x 4-15 x 7-69 x ? = 1565-67631 OWNS,
7 FV0E’ Stk Densd Does ?

(1) 618
(2) 496
3) 484
@ 55

D35S 5 HBPHOS® HOF K HFBEASTI. (OS
JBTLL 509 SrBuzen 28 DGO GOETAW.
& 5 HBPOS’ 0 Srdyen 4:5:6:7:8
DH)BS’ Saryon SHOAN INSOTT S
60% 6 T, @SH ) IFHoS
B0 SrHyeS 50% $0T S50y &0
Jwcw? | -

1
(2) 2
3) 3
4) 4
k (D30 &) FED-AD 50 ToHhads
SDEDEY 2t AATEN DSOS HEAS k/2
DA &) FEH-B 8 THhadE 3t
ADaTeD DSOS, D @) RSEAYSIM
DEFTIWR, WS  FESo-A DF) %
QAFETI0 ASIEVE BET HHen S0
F80-Bl0¥) &0 QAP S0 QI ST

DS Dod DERS 050090
SDZ0ETE ?

(1) 2tk
(2) 8t/k
@) 4t/k
4) t/k
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t\.dda

- ‘)j
a\"b ',"\-\“:'\.- o
; N »
it AN
\"'|

1
65{161'10 - (19 :. p\.),r, \p/n{ @
A professor o pharlllﬁlce‘utlf:a] Stienceg in hj ’ N - = = AE eh ,,.70
; (lassroom defines that tl}e half-life of & i 5144, 2,8 romdrse3sd VIR 17 P o
substance is the time period in whigy, . & SrSS TaS Horgo wwsy ©F S
cubstance becomes just half of jp ™ w0t & Hego RS B0 ST ias
known that the half-life of a drug Adl‘enali;is BR0ch SgSE ©D 28 DOT . (o o
e : o,
is 800 years, then after 3900 years, 1900 g | o I oSN 800 BB E 0
drenaline becomes X. Which of the g, ) 3 o 05 120
A : ollowing eond, 3200 D0HNSIT 2
is a possible value for the sum of all gigype ;| | oo @ ARDS X (iSwen ©IO g
&
X 808 T8S' X S o) ®OSO .
(n 12 e85 Dend DO ?
@ 285 (1 12
3 225 (2) 285
(4) 375 (3) 225
(4) 375

Chandra is a confused typist. While typing the
numbers from 600 to 799 (both included), he
typed 8 wherever he was supposed to type 6.
Then the total number of times he had typed 8

is:

(1) 180

2 230

3) 320 @
4 300 )

. = eries :
Find the incorrect term in the given 9

193 140 97 62 35 10 2l
(1) 62 |

2) 97

@) 140

4) 193

46.

S0l Kodoigos &y 28 DR, 600
SH0B 799 S8R &) HoPLOD VD
TS (Boc ZenDHFR), SN
6 BD TArd)d S 8 O W TR,
©HIE B 8 HoWS & WY TIS 0o
NOPS :

(1) 180
(2) 230
(3 320
(4) 300

& (808 I50AES BSBS S &)
@08 HBohod :

193 140 97 62 35 16 5
(1) 62
(2) 97
(3) 140
(4) 193
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47.

49.

Ganesh donated 50% of his saving of
Z 1,26,588 to Ayodhya Trust and he invested
the rest of the amount at 10% compound
interest per annum, separately for his children
Krishna and Veda in such a way that when
they attain the age of 18 years, they would
receive the same amount. The age of Krishna
is 13 years and that of Veda is 11 years. Then
the amount invested for Veda must be :

(1) T 28,204

(2) T 28,640
(3) T 26,840
(4) < 28,460

Find the Mean of the following data (correct to
two decimal places) :

Variables Frequency
15— 25 . 4
25— 35 11
35— 45 19
45 — 55 14
55 — 65 0.
65— 175 2,
(1) 3926
(2) 4026
(3) 4156
(4) 4265

Find the number of triangles in the following
figure :

(1) 36
(2) 32
(3) 48
4) 52

(20)

47,

49.

GET IT ON
Google Play

KR & P T 1,26,58885 50% eT3redg
1LOR8 Dorgorr TR HOABD  MADS
ITR) VOIS IoWE  10%  HESRS,
DADAT 55 DN Sgn NOCH e o
VEPDA DEFD. 18 SoSB TN QOB
SHares, T W% @ 23 W)
@ONZ0EFS. Foxd TWFy  SAD)
13 DHoSSyoven HOOH BE  SA0Y
11 Hossyoren. @ I 8o
SDISHOM DEPDE DES IS0

(1) ¥ 28,204
(2) T 28,640
(3) T 26,840
(4) T 28,460

& 1808 &S&0% 0§ SHFIS0G
(BO® 5703 T NSB0WN0B) :

S00HWS) OIS TV {O)
15-25 4
25 —-35 11
35—-45 19
45 - 55 14
55—-65
65— 75 2
(1) 3926
(2) 40-26
(3) 41-56
(4) 42-65
& (808 J$0S (BT HOPLD
S0 ¢
(1) 36
(2) 32
(3) 48
(4) 52
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| Gsnsﬂm ; v (&
named A, B
Jl Each of seven boys i t,dC. D, E p and (5o, A B C. D B F $005% G -~ f‘:o)é-)g TSP
’ ’ on n i "
G hss an exam . ay Of a week . t] L] ] » 5 g aﬂéoésgj
|] starting from Sunday and ending o Saturda; DErbEd @933".301)05‘ . e300

IG5 Bard HOE @oenod,

%o
8 S80S (IS
od  ([roodD @ N

of the same Week. Only two persong have th;
elr

exam between C and A B hag his ex,
m

. E. : % g0 DS
;mmediately before C has py exam J0tHQ0B. C O A ©30 o g B
. ediately before F. Only G hgag hi ETATeVINIISMOEN Srehadd 0
],mm . = lS.EXaIn r CS) C é&,m
after A. Which of the followip . S5 Swotd E 8o H68. s
g Optu)ns i éD’" é G 5\3
represents the correct match of 5 boy ang the S0 F & D08 Iée)d)). A 5 ;
daf o s wEaTy AR 568 sonos. & (800 aooaée:m
98 weryon G $BS 2SS HO
@) AeTheedey 8D 568 B SrON0B ?
: ‘
@ G:Friday (1) A:%Hdsd0 H
@ G:HE>80 ; \
(3) C:Tuesday i (3) C . é}oﬁ%ﬁ'éo E I‘:d
(4) B:Monday (4) B: &80 31
|51 56& S9RNEGEI (A) HOASD 5250 (R) ©cD
51. Consider the following Assertion (A) and HBKB0S08 O  DDS  TBD
Reason (R) and choose the correct code : 0THTOS : _ :
Assertion (A) : édfgdfsgA);? T
- - AB™® 28 (XD ) S50 b
A ith AB*"® blood group is called as
person ™1 . BT @oETH.
‘Universal Recipient”.
500 (R) : |
szason (R) : & |y . AB+ve 33‘5 Lﬁj‘,:‘) ‘%‘61 ésgg Wgéﬁ A&B
A person with AB'Y® blood group : OSrogdBSen ooy avroederden
antigens and Antibodies in Plasma. P
Code : g8 : | _
is the P
() (A) and (R) are correct and (R) 18 Bl (1) (A) B0 (R) HBSD O (A)
correct explanation of (A): Q8 OB DI (R).

) is not the (2) (A DB (R) dBID, 5 (A) 30y,
BN NeSBed (R) 5.

3)  (A) Q20, ©onS (R) &)

(3) . R is false. I ‘
(A) is trye, but (R) 1 @) (A) OO (R) BOKT 65y,

@ Both (A) and (R) are false-

() (A) and (R) are correct, but (B
correct explanation of (A).
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52.

53.

e
r o7

Choose the correct suitable figure among the
52, v v -
2 & amy @0 c &80 D

four alternatives A, B, C and D given below
that would complete the given figure matrix.

2

A

A B c D
(1) B
(2 D
@ C

(4) None of the above figures can complete
the matrix

Vande Bharat Express travelling at 63 kmph
can cross a platform of Visakhapatnam
railway station which is 199-5 m long in
91 seconds. How much time would Vande

Bharat Express take to completely cross (from

the moment they meet) Duronto Express

157 m long and travelling at 54 kmph in the
opposite direction to it ?

(1) 8 seconds

(2) 10 seconds

(3) 12 seconds

(4) 16 geconds

53.

GET IT ON

Google Play
4

2S5BS Ty ‘
, 3 Q‘.‘f
(& som) asren A s 5T &S D,

S 88y 10 B

QOHE0A.
?
A B C D
(1 B
@ D
3 C

@) A DD SrS5yE F°8 TONSY

63 8.50/0 SHo& (HASrdoT 0T 7O
DBV 1995 &S Ry &)
ITPIOY0 BBS VWS TSI IR
21 XS TOBOS. 157 Derd B
$HB05 S0TFBS IEY DD § $5RTE BFS
foed 54 8.oso IJrost BN VN
S60E MYV FOT oHFTIE (D
EOVS 890 D0B) S0T2rSS NNEREY

D0 VD00 DO ?
(1) 8EW

(2) 10 DEW

(3) 12 DEWY

4) 16 VDEW
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Gs/16/"°" ing bar chart B
Tlowin: art anq 808
Study the fo U b ANSwep {1 2, E
54 ™ ction that is gl"e“ts ill“'“’ The chayy 2; the |54, & 1806 arb erfQ e&HsoHNO 39 5 500.
q f students that app. owg BASSAS  DES RO TUak xo

yumber 0 " ared f,
g;.(;sled B.Tech. examination fy,, diﬁf‘;ﬁ' o 202465° DD 1ITe> DOk B-TB"hba,s@o
MTsin2024 ong SEBS O  GRHB
f students who g HOYPLR T By od.
Nun:nbt’f"‘ef’i B.Tech. exam ﬁ_ﬂpeﬂred for s @ 5855

and passeC = India T differeny | FSSTH0S' DG UTO &ob B.Tech

| 55238 $H00% #AHBS DT SBO doPs
i 350 } 30 350 + 300
| 3001 250 T B - 300+ ., 20 [ 250
| 2501 180 200 250 1 25 225 0
A | 150 o | 150
‘ 150t 150
1001 100 +
50 J 50+
: 0 “gr  OT  OT  OT oy —Fr wr ur IT I[Ta
%I 7 Kanpur Madrag Pune Tirupati Bombay S0 TR W F BN 27O
] Appeared M Passed O S8BT = &@@@‘63 ci)a s
The number of students who passed the IT 526 b IIT K éIoI%& gao g;‘;'o
examination from IIT Kanpur and IIT Pune is ﬁ§®§§ AT PO rOO"@% A %hs.é\;
what percentage of the average number of IT S5 oot IIT 20 0.5“0 o
students ~who  appeared  for the 3B ‘.{363"5@@) dfen SOV o
examination from IIT Madras, IIT Tirupati i"éo?(bd)co B0 S :
and IIT Bombay respectively ? j (1) 60% 0O 85%
(1) 60% and 85% (2) 64% o0OAD 90%

(8) 65% DO 75%
4)  62% OO 90%

55. & (800 a0)S (LSO HBasw
BORTOD  BAS0H.  BDYS  ID¥S
55. Read the below given statements followed by DOG FTBLEOT ©HIBOT BT O

(2) 64% and 90%
(3) 65% and 75%
(4) 62% and 90%

; conclusions. Choose the conclusion which Qszﬁog‘o& .
logically follows from the given statements : (0 d)n;..ci) 3 »
r Statements : % CS?)) NQOGST FEEN.
i All professors are doctors: & SOOQEO‘LHO&‘QQ_
; — 0SS I DI eray.
All doctors are engineers: oYoc e !
Some professors are lawyers L (@38088r 2088,
Conclusions : e IL. 2023080485 eraHe.
I.  All professors aré engineers: LI T0& Sehzen era.
II. All engineers areé laW)’e::- Eg éo‘gc‘éo 1 ;&50@533 @(53;()6@0 a3
) tors are Jawyers: 070 1 o085 1T oSov|eh
III. Some doctors & 05O om S
(1) Only conclusion I follows ) ®) 20‘552\«333 T 58050 I S o
(2)  Only conclusions I and 111 follow (4) 330‘2(;‘ Q‘w‘;&o
@) On] . < T and II folloW S 1T SOOGS0 I 537(g8 3y
y conclusions f 1low @9‘&)‘06@‘% .
@) Only conclusions I and IIT 0
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56. Assume that you are the polling officer of a|b56.

polling station for the general elections 2024
and the polling booth is in an area where
Maoist prevalence is high. During the day of
polling a group of Maoists come and try to
disrupt proceedings by terrorizing the voters

and firing guns. What will you do ?

(1) Immediately stop the polling and inform
your higher authorities about the

incident.

(2) Ask the police to resist the Maoists by
getting additional force.

1

(3) Inform the police force stationed there
and ask them to ensure safety of

important documents and EVMs.

(4) Ask your subordinates and voters to

revolt against the Maoists.

57. If a circle touching all the n sides of a polygon

of perimeter 2p has radius r, then the area of

the polygon is : 5.
w 2=

(2) @(p-nr

3 @p-nr

4) . pr

GET IT ON
Google Play

A
=an

D8 S A Een 2024 S 2.8 FOoR
VASH  FOOR @OTO ©D By
SrS'ony oo DBRST Gl
@rososs® e  HOOR TS OB
A0B08, FOof Berd  SrSanpe
WYOBO IO, L3S  ZPODETOR Y
OB  hoFos  Sed)D B8
SEsEerrety eosoropo $OR0Tos
(0D 05D, @3¢ DK DD TK?

1) Soers FOON B SDIR, DO
%800 & &S FosHoR 8O

BODO.
2  SONOD €55 2O
SISV VRSN %) 8 &)

SrSTONREOD 1DB0E305N §B%O.

(3) @58 &) FO veTosHd SO
ToHBOo HBAD  SVPID BN
58050 EVMe> 2565650 QF° 80t
S8 §Eo0.

(4)  SrSonNOZ SRTEOMT 02N
TOHHA N 80H Pow eHsHOD
SDB05W 2,088 eacsiicso.

r Q‘S@‘QO e 2.8 590 2p NEPTexed e
250202 ABE) ©J) JIPen n d &8,
BN B AIVNE By ITOL0 0
)0 :

i -2
or
2 (p-n)r
| 3 (2p-n)r
4) pr

‘
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59.

. o club, Sam, Gaugy,,

up Were playing Cl’l;*dNﬂRuRh'
ha_n'l, “If you giVe me t,h]-

o B
cards, you will haye e if 1
s Sam and Ga“tham tnany as
s more than what DeepaiEther
ther have. If Gauthay, as Et‘:d
0

p W6 hat N
qrds more than Wik Fagesh hag g o o
any cards

il pumber of cards be 133, how
58 Gautham have ? :

1 3

@ 4

3) 2(].

4) 25

The question below consists of a figure A. You

have to find out the alternative figure from P,
Q R and S which contains figure A as its

part :

A DAY
A P
1 P

2 Q

3 R

4 S

=
0]

s (;Oded as
ded a8

s

In a certain code language, Bihal'. '
Uttar Pradesh, Uttar Pradesh 15 gam
Punjab, Punjab is coded as Assam Als e and
coded as Goa, Goa is coded a8 el m‘whiclh
Bangalore is coded as Sikkim- i mntl)’ by
state was an ATIMS inaugurated ¢ ‘
the Prime Minister of India ?

(1D Goa -
2 Assam
@) Punjab
@)  Bihar

(25)

68.

59,

60.

GET IT ON

Google Play

e, HDS .
2.8 BBEHHS F5S Do, TS, ““)f;” g iy h
SHOAD @R WS @a@é}r\s“;,go ';335‘@
RS ger @0y, “s ¥ parbed
ehen =R, D @ @D & o
20805 S Do Srcky Qe 'a@,” o
b5 & darsor sHen ot @fgg o
00K TS B0 Sif6 TR éé P s
ABE 5005 edsrD AR Bifd &ﬁ ‘:i i
0% 10 B0y L0 K)@ e |
GO §0By T Ss BO phm
DES GO HOAW Sweso 5RO svéé;o
133 eond, ToS Of6 202 .
Gy o ? \
(1) 35 |
(2) 45
3 20
(4) 25

808 DS A$o A, & BHSS &&2;,6 ';;
Demgeryod P, Q, R B35 S WO
oS axfior &o& NG SHFI0E : |

A DAY

A P Q R S
(1)
(2)
(3)
(4)

(7,0 -« B¥-» g v

28 AR §& A, HIBD &S DTIr,
GEODBTD D0STT, HOB & LI YOrT,
OO Farm, Faed ZoHLEEm SHOOKM
BoherdHD Do F&E TIXD. wons
2768 D adse D 01ROS" JanSy
(AIIMS) | S0Dowr& ?

(1 Rar
(ORyAYe!
D0
AN
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61.

Vaults :

I Svalbard Global Seed Vault is a facility
on a remote Norwegian Spitsbergen
Island, and it is the world’s largest |
secure seed storage vault.

II. India’s Seed Vault is located in a
high-altitude mountain pass on the
Chang La in Ladakh. : '

II.  Indian Seed Vault is a joint venture of
National Bureau of Plant Genetic
Resources and the Defence Institute of
High Altitude Research.

Which among the above statements is/are
incorrect ?

_ R80T,
()’ land M only DS BD)YS (HELIOS DB/ S5 ?
(2) TandIIlonly (1) 10805 IT Srleded
(3) IIonly, _ (2) I80%0 III S(ebsH
(4)  None of the above @ Daressd
1) DI 52

68/16/101 (26) (&
Part B (i) 8B ()
Science and Technology S) w0 B0
Consider the following statements about Seed | 61: D& gyz3y (& TY WHBOD & Bos

(08LSe% HBKBoS0

L

II.

III1.

r-adarsd 616)

GET IT ON
Google Play ‘

F35erl s & @ ODcho
©OIO o0 B0 IEHNTVS
BsHoS Doryen BOLGo  28A0s
2080k 2O (HDH0VOS'T ©8 1Y
288D H6 O .

rSSTHo By DE TP ©%d SR
Toff ere® IBS HSgS o, $¢
GO0,

R0AAHS HBE O IO IJIAIS
arsS @D FosS BIEBS OFTRD
DO ADI) VOIS e
Sooswdorr

62. Identify the new sites in India added to the

list of Ramsar sites on the eve of World |62 (00 D$d Toey AS égéﬁo 2024

Wetland Day 2024 : QOSBIOT THHE DS 25Derss S

I  Koraiveffd BirlBanghary i g""sm‘g‘:‘ TOSTIOSD  (romo
— | 8050 : -

II. T.hol Lake Wildlife Sanctuary I . B3 @ S5 & 25(:6)‘68050

III. Pichvaram Mangrove L &S d6) DS PEDS @IS Ses0

IV. Magadi Kere Conservation Reserve IOL - 5580 o (Dla INTOW

IV. S8 30 $§854.5 626,
V. dorsd SIS ENS @S Seas0
DS A852AS FEOD SHTFAD B
(1) Iand I only PATER) dotkiod
i s sl (1) TS0 11T &8y
(2) T OO IV S8y
(3) IandIVonly @) 18akw v AL
(4) IandVonly @ I5080%0 Vv e

V.  Bhindawas Wildlife Sanctuary

Select the correct answer using the codes
given below :
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GS o following Stateme

ider b ts

- f;ﬂ;ien Engiﬂeered SATellite (WE SAT) .about
0 ;
wESAT is the first Indian gaye)),

I ﬁ‘llly designed and dEVQlope d by N 0 be
0

students of Lal Bahaqy, Sh:;tex}

[nstitute of TEChnol()gy for Wome:

Kel'ﬁla-- ]

WESAT was launched aboarq
pSLV-C58/XPoSAT  Missiop i
of the secondary  paylo. ds
15t January, 2024.

1. the

one
on

gr. WESAT is meant to study how rajng, Al
refills underground water in rura] .
of India.

Which among the above statements are
correct ?

(1) IandII only
(2) II and III only
(3) Iand III only

(4) All the above

e 10 .W i : t
ich among the following 18 the world’s firs1
y to pro i a
propose a tax for agricultur
ssions to achieve igsi tion
Issi hieve the emission reduc

target by 2050 ?

1) New Zealand

161" (27)

63,

64.

{2) MEX1 o
(3) Brazil
@ Argentina

GET IT ON
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(&

@B m0Rdf TEBE WesAT) 000D & \
(808 (HEEISO& HOHEBOWO ! |

L od ardrd 7l a5 e
BEyod 55 &S, WESD DTV
Seshod om SrrofotndS
5005 e3y0 Tabnssd IS
2PEBOD Gd|ir0 WESAT.

~80db HSBOS

IL 1 23358, 20248
S5

2,563 PSLV-C58/XPoSAT o\ et
WESAT [HEBrA0I0B00.

1L | r3STFoS (TN FroeS
SErS0  BTHS) BOD I
DoHH0E  ©HOHDO0 BoHERE
I (WESAT) 653000808,

D RELIOIS’ A DTSR ?
(1) 100050 II S°(hedd
(2)  IID8A%W I Sr(ehad
(3)  I8aW III S5

4) DI

& 80O B3S 2050 Tee38 &S Shod
OFIV), THOTOLHH SIS &STroerDy

D), AROTO RSB E0DS
(D00I0S' A Rreses T¥o DA 2 x

(1) SrgBerod

(2) DEF

3 (BS n
4)  eGoel 1\"
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65 Consider the following statements about

I It is the first India-specific Artificial
Intelligence (AI) model which accurately
determines the age of a fetus in

pregnant women in the second and third

trimesters.

II. Garbhini-GA2 was developed by the
researchers at the Indian Institute of
Technology, Madras and Translational
Health Science and Technology Institute
(THSTI), Faridabad.

Which among the above statements is/are
correct ?

(1) TIonly

(2) IIonmly

(3) BothIandII

(4) None of the above

Identify India’s first indigenously developed
CAR-T cell therapy for which Central Drugs
Standard Control Organization (CDSCOQ)
gran}aed market approval :

(1) NexCAR19

(2) TECARTUS

(3) IND YESCARTA

(28)

(4) BREYANZI-BH

65.

GET IT ON
Google Play

Y

Garbhini-GA2 %800 808 1D8&LSeG
D0BosoA -

L 28 Boosd 0O sy
Bsrdéos® #0)8 (R0S Dodo
Twg,  SoHdD  D)Sorr
Aowod DS FOSAN-IPY
53 Be% THcsn) (AD IrchS.

II.  Garbhini-GA2 Q ROBONS ASYEIrsES
8D BF)ed, DTV HOAW 1ErI)
BASS D 1Y) @o& Vs oFd Al
DerseS  (THSTD,  HOmer&S'D

HBFCEeN ©9SHE TF.
R (DELIOS” IO/ OBID ?
(1) ISredad
(2) IIIJ)J"Léi)

(3) THBakw II Bokr

@) DI 52

S0l TR (DSrere AODOSE  NoY
(CDSCO), B IS0 FodS
TESTHO  TIwE) SoLISES  BYovorr

0DIYE TOHDAS CART DS BTEH
N800k :

(1) NexCAR19

(2) TECARTUS
(3) IND YESCARTA

(4) BREYANZIL.BH
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(29)

ke the following St:’rltements about the
e TJus reelt propulsion system that wag
" pdige”
in
255 T
;‘;fv.cw miss1oP
It was developed by Bellatrix Aerospace

L private Limited under the Tecpyg) .

demf’ﬂs”a"ed in space op ISRQ’
8

Development’ Fund scheme of DRDO.
i Green pmpulsion system s op
" innovative technology  which s ,

non-toxic and environmentallwariendly
propu]sion system for low orbit space,

Green propulsion system is ideal for

1L :
with  high thrust

gpace  missions

requirement.

Which among the above statements are

correct ?

(1) IandIIonly
2 IIand III only
3) Iand III only

(4) All the above

Indian Renewable Energy D evelopmeﬂt
Agency Ltd (IREDA) has signed  ?
ou) for

Memorandum of Understanding (M

innovation and research in the renewable
energy sector with :

0 7 Madras

@ nr Guwahati

9 1t Bhubaneswar

@ oy Bombay

67.

GET IT ON
Google Play

ISRO G, PSLV-C58 2SS &
DeabSosor (HE808ES p
FHOS DS HO0D & 1806 1
HBNE3oh0 :
L &

FsoDD0oeS DB
BereSE) dERR (B3

@SR B0
I (AS IHRS DY o3

S oEDES, $EpS EES DO
space) & HTJRHOB

SHBO%0 K)O‘sf)ém-@.‘)cﬁ)é‘-"@
s | |
. E,
I (S oS QD YA ()
oSsTOS  @0s08 TN
©NIIO.
2> (DEOSOES” D DT ?
1) 1005 I S
@ I 0805w III Sr(eb3

(3) 150050 I S5

o 28 DSBS
o (Low orbit
oS er8s
ITIRS

@ 230

20B0HS BITEIWS A8 BIODoOES
B OWT®E (IREDA) 2)SB0& )58 2055
Boffoes’ e B@eDn DO  HOFBSe>
g0 & (808 &8S BIE eSmoS
2,000 (MOU)R HOSE0 BOA :

(1) 2098 DT

@) oo HI5es

8 209¢ ST 6

(4) e 27023
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69.

70.

Consider the following statements :

1. India retained the 40" position in
Global Innovation Index among the top
innovative economies globally as per
Global Innovation Index (GII) 2023.

1. As per WIPO Report 2022, India is
ranked at T7th position in terms of

Resident Patent Filing activity in the
world.

III. India improved its ranking to 60
position in 2023 from 79 position in

2019 as per Network Readiness Index
(NRI) 2023 Report.

IV. India secured 4279 position out of the

55 countries in the Global Intellectual
Property Index 2024 as per the 12t

edition of International Intellectual
Property Index.

Which among the above statements are
incorrect ?

(1) LITandIV
(2)
3)

IT, III and IV
11 and IV only
(4) None of the above

India’s indigenous Prototype Fast Breeder
Reactor (PFBR) of 500 MWe capacity at
Kalapakkam was developed by :

(1) Bhabha Atomic

(BARC)

Research  Centre

(2) Central Institute of Mining and Fuel
Regearch (CIMFR)

(3) Indira Gandhi Centre for
Research (IGCAR)

Atomic

(4) Bharatiya Nabhikiya Vidyut Nigam
Limited ( BHAVIND

(30)

69,

70.
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@&

& (808 (H¥%erchercs HOKEIOI0

L fad 98355 @20385) (GID 2023
580 ﬁ‘a)é A Hac 2085y
rES$3%0 &5 4055 Q)
QENNZF0H. '

II. WIPO D368 2022 (05760, DHO0E
B2BosS oS doh sOssarare
$80mT 2r8STH0 15 FS0S &ob.

L. 3556, 8630 =085y (NRD 2023
NSO (D580 2rES$T330 2019 &°E3 794
S0 Sobd 20238 608 FAS 38
¢S or3080HD DSHDBTHH0E.

IV. 20681385 R0BBHIIS (DG
2088y 128 AAAS (D500 Fod
20BBH IS | BoTS ) 2024’ 55
Bros rd$53o 4285  J)
odOB.

2 HEOIOS DD S ?
1) LIINN6A IV
(2) II, III SH8™ IV

(3) IO IV S e55hH
(4) D3N 5

502840 SQ 500 MWe 0850 Hey 23S
0532 \SFEVD Y DSE SirEE (PFBR
@D TS H0PH DB 2

1) 272> @erQ8 518 Doers (BARC)

j&)oLd'.)eS AL ey J0H e0b
WIONS 88 (CIMFR)

@ RO m0f NoeB 1E eerdS
86 1GCAR)

(1) rdaas AL
A DXoeS F Y
ATy E (BHAVIND $

(2)
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2.

.

~1101
’ g the folloWIng. idengjg,

h:ﬂnl » h are i n e o
. v gions Whie colly :
J] in!‘“m"mm borg ion

. as a peg
L]GO Laboratory part ¢ L]GO

¢ Nepg

Wwith

ot ‘lnd’la
i'lmlec !

I [nstitute for Plasma

RE Seq
Gandhinagar rch (IPR),

Kepler's Observatory ¢
" Centre, Haryana Research

I Inter-University Centre fo, Kt
j o

and Astrophysics (IUC AA), Pune

V. Raja Ramanna Center for Advanceq
Technology (RRCAT), Indore

y. Indian Institute of Space Science s
Technology, Thiruvananthapuramy

Select the correct answer using the codes
given below :

(1) I,IIand III
@ II,Tland V
(3) LIland IV

(4) II,IIIand IV

Identify the spacecraft deployed by the NASA
to study the physical changes in ‘God of Chaos’
asteroid which will be nearing the Earth’s
orbit by 2029 :

(1) OSIRIS-APEX
(2)  New Shepard
(3)  Voskhod

4)  Pioneer 13

dian
Who among the following is the ftlrslt 1I'nel’a’
Woman to get a Ph.D. in a science discipline
(1)
(2)

(3)

Kamala Sohonie
Anandibaj Joshee
Janaki Ammal

(31

71.

4) Maharani Chakravorty

72

73.

GET IT ON

Google Play

()

- - b e
& 808 e3¢, LIGO-India (572522 & e

LIGO ergS0eb 8§ 5056500 (325202
QORI HBOOM

L adyareS 56 oy 6260 (PR
mod SKb

1. 3J6) 0058 ok 826 20080,
SO .

L Ro6:6-crds0ye  woed ; :
BT @obh e FdNEY (TUCAS,
I

IV. o2 osod) oed b oS
sy 28 (RRCAT), 2080

V. 206058 asderiS aD P RSN
@08 B 0, BHSI0S$HO0

BHS 235088 FHO& GHTrHOD STeIN!

QIFTIR), 0TS :

(1) 1,11 805 III
(2) 11, T 805 V
(3) I, I SH805w IV
(4) II, TII SH0 a5 IV

2029 T°e38 25 55550 BHIS' &) ‘&
@5 SOR [BIFrIE0oS 23R8 Srd)O
©¢5oRN0 TR NASA B VIV (DD
fa\eTeinlela

(1) OSIRIS-APEX
(2) New Shepard
(3) Voskhod

(4) Pioneer 13

& (808 8S’ 1S VoS’ PhD. Srody
FES 2rBA0D DA I ?

(1) Sder v
(2)  esoburon &'a
(3) 28 edme

(4)  HD*0°ed SES0
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GS/1G/101 [:42.) &

ar i adable, tural G
74. The smart, bmde‘gm able natural [ m, TS BES S5595 D88 EH0 DSEE 5
polymer-based nanoparticles from renewable “
resources for treating colorectal cancer were DS INVeTa f_@’@é’ AU g,
developed by researchers of : JES IO & E-escrOd ENEVL O ORREN
DOF &0 :
(1) Indian Institute of Technology, Mandi GSen ©DHP o &
1) 208cHS  adwtTsS &
(2) Indian Institute of Technology, Bombay Eﬁl@ag, o0&
e°§ed &
(3) Indian Institute of Technology, Madras @ mo&ADS AT '
B er, 23702
(4) Indian Institute of Science Education 8) ¥ORSHS aaguﬂﬁ“sfﬁ S
' and Research (IISER), Tirupati BE ere?, TR
@) R080HS AVILTIE B VI
JATAS ok B830) (USER),
SHDH
75. Consider the following statements regarding . 3 .
Sun Halo : 75. IS S8 HooHoD) & (80 (DELIDLN
I Sun Halo is an optical phenomenon that 936{‘395011’)05 :
occurs due to sunlight refracting in L O DJGQSS (O a) JE“:)CSE’JOCSG 3@0&‘3
millions of hexagonal ice crystals WOHY HEYe Hoth HHE3sod
suspended in the atmosphere. ; JrSoS 5L§2}5¥)c’60 SEe0m
II.  Sun Halo takes the form of a ring with a _‘6025;)08 8 e¥S Sf sRad0.
radius of approximately 22 degrees L. S S g 0P ST 22
around the Sun. - . e’Lﬁ © s & 80F 2 .;;
III. Sun Halo is specifically produced by éms\)O&DO&. 3
;umu:l::b.usl ilx:10111ds.,dw'hic:h are thin, L A 5868t WSsEor & £ 0 S" D0DS i
etached hair-like clouds,
IO T 5o &)B FobHuckesod.
Which among the above statements is/are 2D A1, Iy ToHDAS Soensen
correct ? eroes 3);)5,,@
() IandHonly 20 A0S DIOIOS DB/ $5BSD ?
(1) T8aky 1I
@ Ionly ‘ ST
(2) I Sy
I1I onl
(3) Iand y Ej; ;I;Dcmn I S5 s
(4) 11 and Il only 00K 111 |5
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e qsider the following Statemey (33
1 atl: Coral reefs apq 6 76
grateme ‘Rainforests of thf:esne Calleq th 3
a,
sement jI: Coral reefs break
Sta the waves durjy, Powe, of
hurricanes, tp,, 5 Ms ang
coastal erosion_ eventip,

Select the correct answer using the
given below : codes

0 Statement I and Stateme

correct and Statement I ;g I ape
explanation for Statement | € Correct

@ Statement I and Statemen; |
correct, but Statement Jj iS not are
correct explanation for Statement y the

(3 Statement I is correct, but Statement I
is incorrect

4) Statement I is

incorrect, but
Statement II is correct '

. Consider the following statements regarding
30 by 30 initiative :

I 30 by 30 is a global initiative for
governments for ensuring that at least
30% of the energy requirements should
be met by renewable sources by 2030 to
achieve Net Zero target.

I 30 by 30 initiative was launched by High |

Ambition Coalition (HAC) for Nature
and People.

Il India is the first among the B::fnsl
countries to join the High A™Y!
Coalition (HAC).

; re
Which among the above statements
e‘)n'ect?

Land 11 only
Wand 111 only
Tand 111 41y
All the above

1.

GET IT ON
Google Play

(2l

& 1808 1HEB3O& HBRBoS0B :

BEOST: HEGY Bmyody S50 B
TR ©H & & e HTD:
(BSOS : Hicksy — Boyen SOV

H0H0S werer F§ SHOOD

BDHOD DGO BT O,

S50 BE FeboSH DT OROO-
BN BSOS FHOSH GHTrA0D TS
QIFTTR) JotHEoS :

(1) (DEOS T H00% (HELS I DSD
SBOM (HE&S 1 § (HEOS T OBS
FARNYe LA '

D58 T 0050 (HELS I OB
BN (HELS I & (DELS I OBS
D38 57D

@) DSOS T IR, 5°Q 108 IT 3
(4) (DB T 85y, 2 (D5 IT STID

30 B 30 SO Sop0H0D & 18od
(D8I HBHFoH0S -

L 80 3 30 o380 J88 28 o)
- QOWES 2030 T°¢38 D0 30% ¥§
OINTODN IIDTIRE  S3%e
50 B0 AT B0E SR
(H20&° 50 FO0 28 |DNOS TS,

. 80 B 80585 3 OFODAS FoHOAS
(HAC) 6 B8 @08 HHS orsor

(2)

rS0dotda&ob.

L 3 @0dAS FahdIS HAC)S Say
105 B7S ar8sBH0 Jncse3a,

2 DELIOS” IO DTG ?

(1) 15005 IT S

(2 T S0a5W I Sr(ehad

3) 1005 III Sr|ghad

(4) 3_).;.‘):)). |
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Gs/1G/101 [ 34.) . |£]

78, Identify the Biosphere Reserves in India, [7g, 05133(%5& U 0) TWE ST e
which are not a part of Man and Biosphere 233 w® Es0 S &
BrRIOHE (MAB) SESEN0S a3tio sy

TOETFoS'D  E3rRIOND B8 ger,

(MAB) Programme of UNESCO :

I.  Nokrek Biosphere Reserve H8otsoa 9

II. Cold Desert Biosphere Reserve L rS‘L§§ 2D )O0E 823063

IIl.  Khangchendzonga Biosphere Reserve IL S dors 2y3r)000 62303

IV. Dibru-Saikhowa Biosphere Reserve I 0RyS&s o B3rR) 000 8238
V. Great Rann of Kutch Biosphere Reserve V. Qw38 208r0)000 8230
S__e}e(:t the correct answer using the codes V. B oS e &S5 23370 )oHb 826
given below : ' QDS a9 5233 '5550‘60 &003rA0Y ITY
(1) LIandIV ' VIR, OTHE0SH :

(2) II I and IV (1) LI SHdokw IV

(3) LIVandV (2) I, I 0805 IV

4 ILIVandV @ LIVSOsaw v

@) 1L IV 80k V
79. Which of the following state’s online civic tax|79. 2¢335¢> & 808 2 TROS eSSBS ¢

payment software suffered a cyber-attack D) B0 FPI 8- BE HBOA ?
recently ?
(1) DS (DBT
(1) Madhya Pradesh
(2) .63
(2) Odisha
(3) &85 (5TF

(3)  Uttar Pradesh

(4)  Tamil Nadu @) ST
80. GrRoS &P VDS) wok s @28 (DST)

80. Which of the follo_wing programme by the oo & 500 8S" D SBéSLé&S)O DIAWS

Department of Science and Technology (DST) S TL@SE}E’@’ V) ©o& B Yol
Is to encourage and support senior women QO20RODS  RLBAVVSE  Sorers
scientists to  conduct research  in D8RS - Bohade NVeTo W >0
Interdisciplinary ~ areas of science and (B’ SIJTOBETR8 Erdrodosadosd ?
technology ?

(1) INSPIRE-SHE
(1) INSPIRE-SHE

2 GATI
(2)  GATI &
(3) SERB-POWER () BERB-ROWER
e - (4) WIDUSHI

_4
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the following

Gngsider Statements

g grSENS device”

ab0ut

it is a movel, mon-invagjy, devi
Vice
assess the health and age of the o to
) eu
and thereby provide early . rons
ng for

centra]. nervous Syst’em diSeaSeS

L ARTSENS device was developed by th
National Institute of Mentg] Health Z
I
Neuro-Sciences (NIMHANS).

1L ARTS.ENS device is powered by a
proprietary non-imaging probe and an

intelligent computing platform.

Which among the above statements is/are

incorrect ?

(1) . Tand II
(2) IIand III
(3) IandIII

(4) IIonly

A multimodal Al tool that can T93p°nd in 11
i ndigenmls]y by

Indian languages developed
Seetha

BharatGPT  ecosystem
Mahalakshmi Healtheare (SML) 18 :

and

(1) Krutrim
Bhashini

OpenHathi

Hanooman

(35)

81.

82.

GET IT ON

Google Play

(2]

ARTSENS 96860 moon & B0

D8N DONESOOG :

L 26 Srow @80
SO o SopERS o805
Scrsor Bold TG 3559 & seeS0
S005%y  (Rdoh 00T
o orsd o8 S3o, TEETOD
208380.

. ARTSENS HBET° FaSS

QST & oSO 2rS @08

Srs8 -0 (NIMHANS) PARDIA

DVoA.

ARTSENS 8880 IO

FS-He30h &S SoBAD

mo0®dZ08S  Soyrse3oh TE T B

o300 e5r0S0 TBOLVBOD.

458050 &8

I11.

D DELIOS’ DO/ SaY) ?
1 808w 11

 ILS060s I
1 S5>8050 I
NI EDY

26 22¢3 (BharatGPT) $§5Q 08w Hes
H5tol; w986 (SML) orsor BRchom
©DIYD BOHE 11 TOBSH  rnes
DBD1080NMO YIRS Al Jresardy

HBohos ?
(1) Krutrim
(2) Bhashini
(3) OpenHathi

(4) Hanooman

N
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1 GETIT ON
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GSHGHO1 (36) @
Aayog’s ‘Methanol Economy’ programme | gg, N
83. ?II'I.\I egl;tg: Qe Ol Gaply,  DETS  Ishy
. OS850 G 580508
[ Reducing India’s oil import bill. _ : &) egrserd MBOWOCs :
' . L OSTE S  ODHS D,
1. Reducing Greenhouse Gas (GHG)| - RO A
emission. 1 ﬁn w— o, |
, - iS5 mgd  (GHG)  a@Tod
[1I. Converting coal reserves and municipal SN0
solid waste into methanol. It n 0, ) )
: , L 8% dergen 5605 SNAIDE e
zi?:fltbgl}:)iv SIERHS SokRn eiig s nasie 35S DTS SFEIGO.
Qs HErAOD HB
(1) IandIlonly b B 2B gFHOD G B
11 and III onl SIPTERY Jownsod :
() HanelLony (1) 1605 IT Sr(SaD
(3) IandIII only @ I 5805 LT Sreed

(3) 108080 III S5
4) 1,11 6% III
84. 2§ BHISHM 808 FZ3a00m edSyd

(4) I, IIandIII

84. Which among the following acts as a nodal

agency for sourcing of the Aarogya Maitri TS esBiis (e ErsSeO Da0ETS e
Cubes developed indigenously under Project 50 & (806 F8S IO SGS DB
BHISHM ? HITROB ?
(1) HLL Lifecare Limited (1) HLL 8935 O®&
(2) Indian Drugs and Pharmaceuticals 2) ROACHS () @08 For§e3sS)
Limited _. OWVE
(3) Emergent Medi-Tech India Pvt Limited &) g?;gog DA-BE oA (RIS
T
. P i mited
(4) Biosurge Healthcare India Pvt Limite W oEres W b (IS
" DIV Aa) '
85. Which of the following statement is correc e 5 2 )
regarding ‘Tmpatiens Karuppusamyi’ seen in | 85- ;;3;’);;5‘?5 éd)é?,)a‘)';b; adse oo
the news recently ? : Owow, | Bod &8S 8
H50230800S BN 1DEEIS DA 2

(1) A new aquatic flora discovered by the
< of Oceanography (1) SHITHSVD  TDSHSS SO

National Institute : v iR
(NI(I)) :n Thamirabarani river of Tamil (3}10;3@2 &?:?fg‘gsﬁ e LASHD
Nadu. " 2 2O Sy 0.

grown on

(2) A new species of Hoof fungus JBS & 08 (BSD) 30"

. . the
lant species dlscoveregl by . SNV P Yo
I];:;anicalp Survey of India (BSD 11 =205 &')Oﬁ?\) %? SO DO
Sathyamangalam Tiger Reserve. @ SO BAS Eé S ara,

(3) A new species of Bamboo-dweling bat By 65 meaoiS arerssd
e el by Zoological Survey of s SIMSDAY 58 ey D O
(ZI'BSOIC;vin Madumalai Tiger Reserve: fdyeo0, F T8 I A

ise by 88
Y discovered P (4) N VeTnte)

4 A newhzll),‘;c;?[;ztar[:ical Survey of }rqdlf; SOES  $8 ﬁig" VHE 82658
researc danthurai Tige DO 0805 (BSD
Reserve-

w00

Scanned with ACE Scanner


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

87,

e

55”6”01 ing st
the folloWIng Statemengg Tegar

Conmden ehield against

g6 Global
inidat’ive:

Global Shield aBAInst Climgyy ¢,
initiative was launched at COPg7 and i
is a collaboration Betvicen i
vulnerable Twenty (V20) Sroup
Group of Seven (G7)
supporting countries.

ding

C]imate Rislke

I

the
the

and other

II-. The Global Shield will increase
protection for vulnerable people ang
countries by substantially enhancing
Climate and Disaster Risk Finance and
Insurance (CDRFI).

Which among the above statements is/are

incorrect ?

I only

II only
Both I and II

None of the above

a have beenl
ternational
UCN) and

Which among the following in Indi
named as ‘Hope Spots’ by the In
Union for Conservation of Nature (I
Mission Blue ?

hopur
() Lakshadweep Islands and RaghoP
Diyara Island

and
Andaman and Nicobarl Islands

Keibul Lamjao Island

(2)

and Div

@)  Andaman and Nicobar Islands

Island

d
daman ¥
Lakshadweep Islands and AD

Nicobar Islands

(37)

86.

87.

GET IT ON
Google Play

(&

TTIGE |DITTOL SHDBLOT DU"D“?}
Bas Hod H6% domodod & B°
(DEEIdOX HBKFoS0b !

L o560  |DSrorod 55DVEOT
Aoryen TS Fad b o zS“éf
SO 8206 20 (V20) (9, o @
23S (@7 Hocky asd BT
JT B80S COP2TS L@“CSO@O&')&D&O&’-

IL B2 59 dhhe (HeFaTd SR06,

BT O 2B aé:urs‘:réz
SrEod SO0 SO @05
SerQb 8y TR e

28BS YCDRFD) &S0 52 DO
DI DO  BFTON &5 €90
EO ) N08.

D DELIOS DO/DD 9 ?
I S|
I S35 add

150805 11 Bo&s™
23D ¢

2oBYASS RrICHS DB SIBFAS D
=46 (IUCN) S0 DAS 2 orgoe
rESBI0SR & 808 FES Y D
Y &) S 0ow ?

oibH OJen N0 TryB
BoSror D0

wodSrS D OI™  HBA
fond ey B5DO

wothdrS Nerd B B
Sors DO

s b BYod OO ©OLSRS
PR FAN DY :

(1)

(2)

(3)

(4)
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gg. Consider the following statements regarding

89.

(2)

Conference of Parties to the Convention on the
Conservation of Migratory Species of Wild
Animals (CMS COP14) :

I.  The 14 session of CMS COP14 was
held from 12! to 17" February, 2024 at
Samarkand, Uzbekistan.

II. The CMS COP14 was convened under
the slogan “Migratory species connect
the planet and we welcome them home”.

III. CMS COP14 was the first global
biodiversity gathering since the adoption
of the Global Biodiversity Framework
(GBF)-2022. ' -

Which among the above statements are
correct ? i

(1)
(2)
3)
4)

I and II

I and IIT

IT and II1

All the above

Consider the following statements regarding

- GSAT-N2:

L It is the first demand driven satellite
mission that is fully funded and owned
by New Space India Limited (NSIL).

I .. GSA_T—N2 Satellite will be lifted by using
SpaceX’s Falcon-9 rocket
scheduled in the 2" quarter of 2025,

III.  The collaboration of NSIL with SpaceX
was made due to the current limitation
of India’s rockets, which are lacking in
the capacity to lift large communication
satellites.

Which among the above givel} statements are
correct ?

(1) IandIl
1I and 111
(8) TandIIl

and is|

(4) 1,11 andIII

(38)

88,

89,

(4

GET IT ON
Google Play

@
E0)B508 @h BAESE D D 36
BINE) (CMS COP14) 2 Fde> SEVRTEN
QODOKHOD B 80O (D80,
D0NedotsoA ¢
I CMS COP14 3w¥), 14% JAS 2024
DRSO 12 Ho& 17 $E5 &2)8rs
S'D HBEES' 26A06, o
I CMS COP14 ‘eSS 3% 4375 4
VIS @08 D IV Fo TSy &3
QTR0 HSTFSI08.
III. CMS COP14, {08 &ErEs6)e8 55
02 (GBF)-20228 &Ir&0DS o 5¢
L2008 R (DDoS BIIDes;
D IF0.
R DEOIOS” I HBID ?
(1) 10805 II
(2)  18aS0 I
(3) I 808w III
25,

GSAT-N28 5020500 & 1808 (HELSOS
0He30%04 ¢

L 28 &5 D 208 OWHE

(NSIL)8 S3Ey <320 Dcoen S8k

OST23a3°a§ POENP RO RS
SOPINDE AT esr8es (Ir
DA,

IL. GSAT-N2 &0  SpaceX Qw8
OS99 T8 Faho & JoAsE
MTOMIN VAT oM DO 2025 28
(B350 Bd V&S Thardod.

O arosBdosS  ar8  ElhursdEns
SISO STF  rvdso ad)
088 SI0dS NSIL & |1Haeio
800  SpaceX ANE) dIsB0
B0E0ENOA.

2O FDIS (DELIOS’ AD HBSD 2

(1) 1805w II

(2)  IIH8asw III

@ 1880 I

4) I, II S8 asw Il

|
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(o
ﬂ.

P

Smtemf ntl:

sto

.der the following Statemen .
ns! ot

India has tre“'lEn i,

us S l
power generatjoy, Poteng;
1a],

ement [I: India experienceg cleay
su

weather for 25q to 309 nny

days
per year and thig ®XPosure t,
e

the Sun is estimateq to be

worth 5000 Tn kilqy, att hour o

energy in a year over Indig’s

land area.

Select the correct answer using the codes

given below :

1)

2

@)

(4)

Statement 1 and Statement II are
correct and Statement II is the correct

explahation for Statement I.

Statement I and Statement II are
correct, but Statement II is not the

correct explanation for Statement L.

Statement I is correct, but Statement 11

is incorrect,

t
Stat‘ement I is incorrect, but Statemen

(39

90,

GET IT ON

Google Play

(2]

& 800 (DG HORBOGOE :

(SEOSI: srssBio wag s DO3S

&8 FFR) §O Gob:

(DSOS : r88B50S 2.8 r‘boééaéoé&
DIADS 250 Sod 300 G
J0¢h Ferers SHOOD 2765
253"2,5"5663‘ 58,0928 638
DOBI0  HosSHoDE 5000
oo o &  o&-foted

(Tn kilowatt .hour)-

A0S ADDAS TR SHTBrAOD JBS
co.rmqs“a'ﬁ)l OO :

(1) (O8O0 T HOAD (DELS T HBSD

SO0 HEOS T § DSOS T 3B
D388

(2)  DHES T SHBA (HELS 1T HBID, 0
B985 T8 D8RS T 5B Do swesy

(3)  DHEODTIBSO, SR DSOS I &3y

(4)  |DEOS T8y, 5% (DELS T OB

Scanned with ACE Scanner


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET IT ON
7 Google Play

|

Gs/16/101 S Y ‘
Part B (ii) 8 B (i)
Current Events of Regional, National and ' | $80¢5 53065 ud 82355 , JhsS S8 o8y,
International Importance R0&BYAS S Q07 5.3

91. Which of the following became the wotltid’: ﬁr:;; 91. 808 &S erE5S — ;yg\)&m
t ake abortion a constitution N
country to make RO Lééoéoéea 56 i b&?

right ?
1) BSTos)
(2) )
L3 e RO

(1) Netherlands
(2) ' France

(3) Australia \
4) VYT o0&
(4) Switzerland

92. ‘@HBAS  eRHBYy adse o8
EAV0N0G, A8 Ho0HoD & 8ok

92. Consider the following statements regarding | T3S OB (DEIOK HBRB0S0A -
‘Operation Aspides’ which was recently seen in

L Y ddwo 8oty BS)eS* Rse)
TATAS D HSSHPB0BETAE LHBAL
B0V 2B  BE s ¥ SN[

the news :

{3 It is a defensive maritime security
~ operation to restore and safeguard

freedom of navigation in the Red Sea FEe ;.
and the Gulf. ‘ I 83038 eD)8) ©T0 Ro&rsNS
II.  Operation Aspides is a joint operation by | 08050 R0ETASS AUTSTANY
Interpol and International Maritime SEIZAS QoSS &SD0AN
Organization and was launched on DB /A 19 DRSS, 2024
19th February, 2024. D E0DOSBAS
Which among the above statements is/are
correct ? D DEOIOS” DA/ HBSD ?
(1) TIonly (1) IS
(2) I Sresdh

(2) 1IIonly
(8)  I080%w II Bodky

4) DI e

(3) BothIandlIl

(4) None of the above

|
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161197

: (41 [E]
; llowing state
onside’ ,th? fo Mentg regardip
g DOSTI drill : B193. DOSTI BSE  Ddonosod & 8o
pOSTI-16 is @ trilatera) . (DELIOW HOKBOS0A !
.ce between India, g. Buarq I.  DOSTL Be>08
;::;:ilves conducted fm“i: anka ang ;DO;I;G &%ii Zééiﬁit)bb 22
February, 2024. 2t 2 OB 25, 2024 SBH 055 0S B
. 888 §Q mf 5°5055e00-
e DOSTI drill was stg . (& @ $
. T}:)ilateral exercise by t}fted in 199] 5 I 8% 186 1018 woestio HOXX
. ® coast guargs 8008 Giny, €5 mo I BsES

of India and Sri Lanka.

. Indian Coast Gpard Ship Samartp,
ICGS Abhinav participateq e 9:111(1
Exercise DOSTI-16. =

which among the above statements are
correct ?

1) IandI (2) 1II and III

3) IandIII (4) L II and IIT

§Oncology.ai’, an Artificial Intelligence (AL
platform designed for the early detection of
breast and ovarian cancer, was launched by :

(1) All India Institute of Medical Sciences in|

collaboration with Centre for Artificial
Intelligence and Robotics (CAIR).

20 Dr. B. Borooah Cancer Institute in
collaboration with Centre for Cellular

and Molecular Biology (CCMB).

er Prevention
ith

(3) National Institute of Canc

and Research in collaboration .Ww
Artificial Intelligence Research InstitV

(AIRI), -
AllTndia rnstipute of Medicel SEie2°%®
collaboration =~ With Centre uting

Development of Advanced Com
(CDAC).

T §OSTROTT (E0DOBDEO-

ES B 558 FE HHF DO
ICGS 2SS DOSTI-16 50500

TS Ty oW,
D NEOSOS’ A KB ?
(1) 150005 II (2) IIH8osw III
@) 1000 IN  (4) I, 11308080 I
Bin; SO0 eomdod SO0

Snoddrr HBowdo o ErFoBODD
BB Doesiny (A FESardaD GOncology.ai’

ARTo Rl Foelorlotnialalelal:

(1) o0 N6 sPINHS ADOBRY
ool T5%¥E) (CAIR) BBy
HIsB08 88 AT VSNETHE
e8P DAES A oo 5O°
(Cope o rAleInTAIx TeTa)

@ owb DO Ddegerd ©0&

SrO%seb 20srez (CCMB) B
Jdssos @Ed O. SErd 53836
2SN 0 (rO0DOBDR0H.

s@DNOHS  ROVOBRIS) 816
ST (AIRD AW IFsSos
JasS asRersS O 4038
woh B35

(3)

DRSS s
60OV DR0E.
4) ob e} BIODDOE a9

oSy Sosyrseoh (CDAC) &wy,
“ipsdod ©S R80T ASJearseS
uh  DAES VI & 5o
\8oHosdod.
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Gs/1G6/101 e 0y
Consider the following statements regarding |95. ‘CRIIIO 4 GOOD'E Joz0H0l) & 1Boa
‘CRIITIO 4 GOOD’: R8I HBKEEBOBO o
I CRIIO 4 GOOD is a series of 8 cricket-| 1 R0 4 GOOD &TE 8 18365 0srs,

pased animation films. . ErIHAS Diere> (355, : A0k
II. . CRIIIO 4 GOOD consists of new online, Il CRINO 4 GOOD 51000 S

life skill learning modules to promote
gender equality among girls and boys.

III. CRIIIO 4 GOOD was launched by

oryonesS Do Hirde::,
B )08 S eSBS, =

International Cricket Council, UNICEF 02O 8800 SrdrsS e ED%os,
?ictliiaBoard of Control for Cricket in [II. CRIIO 4 GOOD e0&T8cH &2
. ' . §°0)9, UNICEF 805 2785830
E:lfl;:;:rl'umcajtn;)ng the above statements is/are 835 dabode  0dd oo
i 80D 0B0E08.
(1) IandII
D DELSDOS” DA/ e ?
% Ty (1) I580mII
(3) landII (2) III S(esd
(4) None of the above (3) I.08a0%w III
(4) VI 50
96. Which among the following country’s Prime = o
Minister becg.me the ﬁrstgPaciﬁzrjlreader o e ?& ROAS :J‘anczesés (D00ASEID Dl !
address Australia’s Parliament ? - VDS TAED ) BFAS TOOS (574 |
1)  Philippines ~ i
( (1) OIS
(2) Marshall Islands @) SES BHen
@ kg @ | DB
(4) Papua New Guinea _ @) T 5 AOST

97. PACE &IB*V8 Sowodod  (8od
283D DOKEIOTSOE
L @b dwS 8o, md e
D00 IO IO (DT ON
@H0NN0  TONEAE  ErFrodod
R (NASA) T3y &d(H> RS,

97. Consider the following statements regarding
PACE satellite :

L It is NASA’s satellite mission to study
ocean health, air quality and effects of
climate change.

II. PACE satellite was successfully

launched aboard a SpaceX Falcon-9 II. PACE &0 8 258, 20240

rocket on 8% February, 2024. SpaceX JOXN-9 ogS o
Which among the above statements is/are Q2300300 (DAZTAOHDA0A.
incorrect ? 28 A0S (DELSOS’ DA/ Fad)?
(1) Ionly | , (1) 1373
(2) Ionly (2) IS8

(3) 805 IT Dok

(3) BothIandIl @ 23w

(4) - None of the above:

|
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16/101
65"16 (43)

asider the following sta temeny .
0 S :

g 98,
The 15t edition of the Tiig

L AN Nayg

Conferey,
2024

Commanders’
commenced on March 5“1_,_ 2024

i . The Government of T, dia — ;
Che
) ADITI scheme to promote innovatjone in

critical and strategic defence techno]
ogy.

1. Exercise Samudra Laksamapn, T

naval exercise between the Indian biavy

and Royal Malaysian Navy,

Which among the above statements -

correct ?

() IandII
(2) IandIII
(3) TandIII

4) I,1Iand III

cell

B India's first indigenous Hydrogen fuel 9.

ferry, flagged off by the Prime Minister of

(1) Hindustan Shipyard Limited

@ Mazag0n Dock Shipbuilders Limited
T d
9 Hoogh]y Dock & Port Engineers Limp:t®

Cochin Shipyard Limited

GET IT ON

Google Play

E l

&1 808 (HESeD HORBOBOs :

L 208058 336 &sronby 5.0
2024 15 JALS &r6y 5, 20249
@rSoRod.

I 83 SHockn e O58
roTBES S’ DN OO0
S rosEdE s (IS0
ADITI HE5R) [E0DH0W0E.

ML J30E ©F S°5a8reD0 2red

TSR0 DB T oHS HSVOT®

JFedEo sy Doasng JsehY

°§ O8N0,

2 (HESBOES' DD 5BID ?
(1) 15605 I !
@ II580% II

(3) I08a5w III

(4) 1,060 IIT

2rGe |DRT (B0DOIDAES rES550
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GS/1G/101 (44) n
100. Consider the following statements : 100. & (80&H (8358 HDBREBOHOA -
Statement I: The researchers from various (DSOS : DD Qo HBFGses,

organizations have identified a

EreEeS’D DR (D85
%3506 (urban landscape) ;¢
& zredd 50)N  MBowy,
DB TR B STy
@ D DETED.

new species of burrowing frog
in the urban landscape of
Karnataka and named it as
‘Sphaerotheca Varshaabhu'.

Statement IT : Sphaerotheca Varshaabhu get
its name from its behaviour of

(DSOSIT : STs00 (8080 fes,

changing colours from brown Sofhy "‘&3069 S Ko Sod
to pale brown in the beginning i&:“ES BDSES 80 e
of monsoon season. 0).355 BS TP ©IF DHE
INTARToln Y

Select the correct answér using the codes
given below :

BN RS 5DAS SFEON SITrEA0D I

(1) Statement I and Statement II are QT DOBEOE :
correct and Statement II is the correct (1) 10803 I 8050 DS 11 B
explanation for Statement L. DOAW (DELS T 8 (DS IT HB
(2) Statement I and Statement II are DHOE.

correct, but Statement II is nof the
correct explanation for Statement I.

(2)  1DHEOS T SHBA (DS TI KBS, 59

O8O I § D& 11 QB 8
(3) Statement I is correct, but Stafeme_nt I1 572,

1 1 t. ., W,
Y 2 Gl B)  IDEES TIJIB, 5 (DES IT )
(4) Statement I is incorrect, but Statement

: (4). (D5 I 85, 5o [HEES IT HBIA.
IT is correct. a

101. The initiative Mission Investigation@75 days,

101. JPNBE &; < 4
which mandates investigation officer to op ey, TS 76 6533°c§sn° ——

v -’ “ &
complete investigation of cases within 75 days 625?:3 0050 50 8&{?’@3 SO 5)3?1\\
of FIR registration is launched by which State AVINNASQT5 Tren,  ooR HHSO
(1)  Gujarat (1) Hzo°S
(2) Odisha (2) @3
(3) Bihar 3) DB
(4) Uttar Pradesh , (4) &S (DBT
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L 1"
102. W'hﬂ among the fﬂllﬂwing haVe (45 ) @

: en 1
to be the astronauts on Ingj, selecteq
mission to space ? S first creyeq| 102 ATOSTHO T8y FO $rdS HTS ©0S05

[ Wing Commander Shyh, A& 500 @0 0SS SFos Go0
o Captain P Baluy U Shukla | S0 356 Shsormimenr SIS ?
IL - Palakrishng, Nair _ L D0f §5r0csb Haro® DT

1L Group Captain Pankaj Sinh
g o) - Sitihg L (0D 5S D, rosyns To0b
1v. Group Captain Ajit Krishnay, 11, tr"uﬂia 5"%&:) go?; a??o&"
V. 'Group CaniinSngnd Pratey, V. (0D S 0as 559
Select the cprrect answer uSing th v = __?? O %‘Q- =
given below : ' ¢ codes - S sPS sl (e
@) LI,MandV ™ 23:;‘ aagaié ;‘ge?) HErAoD OB
1L IVandV - ), 0TS0 ¢
@2 I an (1) I 1II, I SH8as» V
(@) L II, Il and IV @) LI IV 800 V
@ LILIVandV 3) I, 1L III SoB80% IV

103. Which among the following is the fi (4) LILIVSH8asn V

. 18 e first cou N .

in the world to launch the Malaria vaccin: :‘3 Y zggfﬂyaﬁi %eic)) ge;i’f) @gjag‘g‘gz
0§

children  into  its routine  national
immunization services ? 2AODH AITYPDBAS HISE DS DES

(1) Botswana [EIEE TE0 2B ?
_ (1) &Serygoe
(2) Cape Verde (@ 3
(3) ST

(3) Cameroon

(4) Democratic Republic of the Congo 4) TIrseS 8598 &8 & soff

104, DTS OB DB SIS D9

104. Consider the following Sta1fements about $5P-3Bras (PM-MKSSY) 9800 & 808
Pradha.n Mantri Matsya Kisan Samridhi 58S % BeS0S0b ; -
Sah-Yojana (PM-MKSSY) : I =6 H$)s Bofo @5 08580 S8
I Itis a Central Sector Sub-scheme md§; : L) gl HOAD DY HOFeHd

the Pradhan Mantri Matsya Samp2 S0 STETIE DTS Do@ Soes )

tor
es sec K)O:)é Lgoﬁ goLCﬁ Soff erd GEo.

) . i an
and_supporting fisheries THCTY L e oEFo 90a0 o o8
small enterprises. LS‘O@‘OCSS 2023 -24 @Q¥ J0Se 350

= an .,
II. It will be implemented with %08 202627 08 HOSS150 I8

ver 2
investment of over ¥ 6:000 €T T, s 4 5058070 500 T 6000 S

for formalization of the fisheri

period of next 4 years from ion = apnAE a8 edhen BAaMS0S
A and Unio 2P :
to FY 2026 - 27 in all States 1 e sgo)B DS sy Fobarns
Territories. . Ltive @@m‘@@;\’ DE¥sOE ENG AN Y
IL It a ide one-time 1n¢¢ A 0850
aims to prov , acultur e0BODR0 GO O2.5
beneficiaries for purchasing aqu “ S HD DI ?
: ciaries for P 238 BOIW (DO el ¢
. Hstrance. e coﬂ'e':t? 1 I 5605 11 @) 110805 111
‘Which of the above statements 27 111 g pooomt W I 1T 80k 1p
() Tandm (2) Iand ‘
1, 11and I

) TIandI 4)
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- Which country recently .declgred National
emergency due to offshore oil spill ?
1) Peru
(2) Puerto Rico
(3) Northern Mariana Islands
(4) Trinidad and Tobago *

106. Who among the following eminent
personalities are recipients of 58t Jnanpith
Award ?

I Sampooran Singh Kalra
II. Jagadguru Rambhadracharyaji
III. Damodar Mauzo
Select the correct answer using the codes
given below : {
(1) IandIIonly
(2) II and III only
(3) Ilonly
(4) Iand III only
107. Consider the following statements regarding

- (1)

International Big Cat Alliance (IBCA) :

I The International Big Cat Alliance is a
multi-country, multi-agency coalition of
96 big cat range countries, non-range
countries interested in  big cat
conservation, conservation partners and
scientific organizations working the field

of big cat conservation.

II. The Union Cabinet approved the
establishment of International Big Cat
Alliance headquarters in India with a

one-time budgetary support of ¥ 150
crores for a period of 2 years from

2023 — 24 to 2024 — 2025,
Which among the above statements is/are
correct ?
1 only
11 only
Both I and II

(2)
(3)

(4) None of the above

(46 )

105.

106.

107.

GET IT ON
Google Play

e300 esondS ﬁ)_’-)é ge e 00" ’251(?3:)@ » B3%0
2rB0% 9688555 HODBD 1HEe30D08 ?

(1) D&
2 58 6g

3) &S LHBOSTRT Heden

@) (8D SO &2

& (806 By SsPOS 583 TSHG
@D (Haresen I8 ?

I DoJrsS doh 50T
I 28 oeedierords
. o3rdd &
O%S BdAS FROD
DT, DTN OB
1) 1308080 IT Sr{esad
@) I 805 I Sr(e5D

(3) IISr(edad

@) 12805 I 375D

200BIASS DA 5758 OADSY (IBCA)S

H0220H0D & Bod PSLTATNOAW

HBKe3o0 :

L 2000)ASS DA 38 eodhs)
OFE IVF-TFEN, DIVF-N0QV
Eredn, RWADS' 96 DG dewew
EJDOT B, 3 HOSE e D esdd
GY) Se-008 TIFew, ;’:‘:_6655_59
ePARrSS0en HOAM® DY depw
NodEE BoKoS” HATNSY ?Lﬁﬁa‘c
DOPEN GOEFON. }

L 2023-24 OOG 2024 — 2025 SS 2

&HBNOD AT

QOIS werd8 T 150 SO
Erarohe DEOY 235

SErONoREIE DBk 2rdSTIos
avomalhéeﬁ DF 5585 o)
RS[AXN SO SOV Q‘ﬁ)o&’)a"ﬁg
018 55 DRS 8rBoNoA

B B0 B Sed Bas dm s

A DA/ HBID?

(2) IS

3 Td8akw 113

4 DI sy o
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;01 (47
5/ 16 . correct pair 1, i
ify the ¥ReoT" " egard;p, a0
2 ﬁznt;leir field Oi:cﬁ:::kwiiwere Ecl:;i‘:i:ng 108. & (808 o&S Sofid o8 @SBC;G
e 2 e ij))
with the Sang adem; Awardg e 2023 FOOS SFHED 0 230830
9023 : BOmTDE $020800 ST GO

LV Gangadhar a Sastry -~ Mu s

Jagdish Gangani — Dance

parikshit Mahato ~ Tribal Dance

Helen Giri — Folk and Traditiong) Musie

%HB050H :

D) IS Korredd 7R - Hofies0

2)  28E KON — TN

3)  HBES S — NBZS S9S50

4) S8 MO - 2SN
Foldrod Hofieso

1
2)
3
4

~— e first spy satellite that j
| Ipdia’s IS set t
1?’; {: anched in a SpaceX rocket was buyjjt by :o be

Bellatrix Aerospace Private Limj, ed

ZHBAS®

109. )0 X 053 @50 (HAITS DT 533‘61
2rOSTH DohRneeS frSTro G
DI Q80T ? ,

(1) BrEdE) MFRID IO OB
@) TS DD (RIS OB
(B)  Bo% DIV RIS OWTBS

1
(2)
(3)
4

Skyroot Aerospace Private Limiteqd -
Dhruva Space Private Limited
Tata Advanced Systems Limited

10, Mukhyamantri  Vishwakarma  Pension 4)  erer omiSIB DRS) ONDVE
Yojana’, a special scheme to provide pension to :
workers, street vendors, folk artists on|110. 60 O VoOAS THHEW, DY TV,
attaining the age of 60 years, was announced 23SHE ETSHOH DO 0BT
(1) Haryana DSB8 DPHTR), TR (D806 0 (55300 :
(2) Uttar Pradesh 1 Soogee
3 Rajasthan @) aSODEE
(4 Madhya Pradesh () TEFS
; 1 (4)  S0es 0BT
IL Recently the State of Tamil Nadu banned the
sale of cotton candy due to the presence of | 111. medHe SFTE TR0 D Werons® e,
which cancer-causing agent in it ? 500 TS ABOS  BI0S T
() Aristolochic acids olFod HaRodos ?
@ Bengidin (1) eBFSEE esren
® R’ e 3)  1,3-20rA00S
le, i 4) OEDSB
. . tly
Wich of the following countries I?m:enthe 112, atdse & 800 T8S LOSTIAH
Intery . 22 119% country 10, P Syesd (ISA)S TOS 1198 BHO 8 2
Mationa] §o]ar Alliance (ISA) ABos
Q . 2 BHhAr
@ R"mania (3) ral_a:ré'.‘bé
lsrae] @) Sr¢F
9 Malta

A

...
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114.

115.

Gs/16/101

118. Consider the following statements regarding

State Energy Efficiency Index (SEEI) 2023 :

I Karnataka is the top performing state in
SEEI 2023 with an overall score of 86-5
out of 100.

II. Assam and Uttar Pradesh are in the

‘Achiever’ category in SEEI 2023.

Andhra Pradesh is in the ‘Front runner’
category in SEEI 2023.

IIL

Which among the above statements are
correct ?

(1) TIandII

(2) II and III
8) IandII
4) 1,1 andII

‘Sangam : Digital Twin’, recently seen in the
news, is an initiative of which Department of
India ? '

(1)
(2)
3)
(4)

Department of Telecommunications
Western Naval Command

Eastern Naval Command

Department of Science and Technology

Consider the following statements :

I Indian Naval ships Cheetah, Guldar and
Magar were decommissioned on 12
January, 2024. The decommissioning
event was conducted at Lakshadweep.

INS Imphal, a Project 15B stealth
guided missile destroyer was
commissioned into the Indian Navy at
an immersion ceremony held at the
Naval Dockyard, Mumbai on December

26th, 2023.

Which among the above statements is/are
correct ?

1)
(2)
(3)
(4)

II.

I only
11 only
BothIand II

None of the above

(48)

GET IT ON
Google Play

113. & DG DTy BOTS) (SEED 20238
AOWO/OY & | 18od  D8&LIe
203080 -

114.

115.

L $oye¥ SEEI 20238 IS0 1008 e

865 HBS oddS DAy
8280 oo AOD06.

I SEEI 20238 ‘@S5 (Achiever
BOHABS' er)0 OO GBONTg
G5 OW.

III. SEEI 20235 es0(QS0B7 D08 88,8
(Front runner) D?J'(‘ioese &00.

D HEOIOS’ DD HBSD ?

(1) 1805w II

(2) IIo80%w III

(3) 1805w III

(4) I, TI 80w III

28350 TS EIDODS ‘Doffo : ARLS
35S & 1808 TS’ 2rESBED & Jero
TBoEy, TES ?

(1) AP0 &P BOE/FIDTAS)
(2) INES [IS Edro&H
(3) QB IO ES5r0&H

(4) AIRI0S 6 VS ok Bs) 0

&2 1508 |DELSD HDBKE00A :

L 208 Sl Jten Do, HYD
DA UG 12 23858, 20248 2r8S
JTOF0 OB GID0TEOIDFAW.
OEANS  SID0TE  5E5E0
QB S0 DR08.

A026 26, 20238 SOBSD IO
FEArDS’ 200 28 sEs &0 INS
QoS 2§ 15B S 5B WO

IL.

BTOHED  ardes  IeETods
(DSFDEFED.
D DEOSOS’ DA/ HBID ?
(1) 1%
2 IS
(3) 1080w II Bodss
(4) DI 5
__—‘
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i

ﬁgiﬁ . of the f0110‘"‘éinzg State ¢, - (49 ) @
C 3
: Games 2023 meq the
* liam a Wtabley " helo 18, BS' modasr aror Ay 2023 HSS 58S
(3; gi?agat 1) o
¢ (2) &S |18
. he followi 20 1083
which of the tfollowing Placeg were pew 3) ST

In :
gk = cal colleges inaugurateq 1,
ﬁ?gjlster of Andhra Pradesh iy the Chijef 4) Nzos

20237 N September | 117. R0 20238 es0(HOB3 m@s&oﬁ
;  Eluru & 808 O DS TS Jog STTO
[ Vizianagaram - %33“60;5'5)056‘;06) ?
1 Pulivendula | I Q?Cﬁ)émso
V. Machilipatnam I 5OToe
V. Adoni V. &g@bmlo

he correct answer usi V. &
bl ueInE the codes| ks mdsaas Shod anriod $99
@) L IlandIII DIFTTR), JONE0k :
2 IIIII and V (1) I II 00c% III
@) LIland IV (2) II, III HBas» V
(4) All the above (3) I, II080%w IV

4) DI

118, What is India’s rank in Logistics Performance

Ind t of 139 tri s per the World 118. (HD0S 2rso8d QWS B8 JHIBKD
ndex ou countries, a = .
Bank'’s LOO' tics Pirformance Index (LPI) QDS (LPD 335% 2023 |05°80 139 BFereS’
Report 202:;%1‘5?5 ' er25) BHIEE SrDES” erESTIo BwEY,
(1) 44- (2) 24 o°308 ioé?
(3) 38 (4) 47 (1) "

(3) 38 (4) 47

119, Wentify the company that launched ‘Prath;::r 119. (DHOB0S eI SEG 05y5esd
which is the world’s first no-code comp NBS TEFOD (no-code ' computer vision

vision platform : platform) €O (DR (@ E0DODS
(1) Assert AT Ko HBotod :
! 1) Assert Al
(2)  Microsoft Inc. Ez) Microsoft Inc
3)  Google (3) Google .
S
4 Dell Technologies - (4)  Dell Technologie

agen®® | 150, & 808 B8 D @008 JoPen &

1 . _ . ,
2. Which among the following SP2% soonp ovo  HI S

rocket
bas launched its next generatlon H3

‘0o orbit; ? . @542‘? ggﬂiﬁ 2535 DB, (CSA)

D Canadian Space Agency ean {(;1 'aomcﬁdz%sj\)gd;;gilsm

( . , ™) '

(z)) Iranian Space Agency (( :; 2;5:%533 gy O5) 2B3S o= 55

Israel Space Agency asA)

cy
ploratio? Age? (JAXA)

(4)

Japan Aerospace E¥
(JAXA)
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